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Tuesday, January 30, 2007


‑‑‑ Upon commencing at 9:30 a.m.


ENBRIDGE GAS DISTRIBUTION INC. - PANEL 3; RESUMED


Tom Ladanyi; Sworn.


Joel Denomy; Sworn.

Irene Chan; Sworn

MR. KAISER:  Please be seated.


Mr. Millar, any preliminary matters?


MR. MILLAR:  Yes, Mr. Chair.  I believe Mr. Stevens has a couple of matters to speak to.


MR. KAISER:  All right.  Mr. Stevens.


PRELIMINARY MATTERS:

MR. STEVENS:  Good morning, Mr. Chair.


First, just a few housekeeping matters that I was hoping I could speak to.  The first is just to point out that a number of items have now been circulated in response to questions that have come up earlier in the hearing.  


The first is that Exhibit K2.5 has been circulated by e‑mail.  I believe all parties should have it, although we do have some extra copies in the room.  It's the Enbridge Gas Distribution customer threshold for gas supply volatility study, which we filed at last year's rate case and has been included as an exhibit for this year.


MR. KAISER:  Do we have that, Mr. Millar, K2.5?


MR. MILLAR:  We did receive the electronic copies.  I am not sure if you have paper copies.  I see Mr. Bourke has some spare copies that he is handing out now.


MR. KAISER:  Thank you.


MR. STEVENS:  Secondly, Mr. Chair, by letter being sent out this morning - and I believe again copies are being provided to the Board Panel and to parties in the room - the company is providing its answers to Undertakings J2.2 and J2.3, as well as a revised interrogatory response to Pollution Probe Interrogatory No. 3.  


Secondly, Mr. Chair, I hope to just briefly speak to a couple of scheduling matters.  The first thing is to ask whether it would be possible to have the Panel's indulgence to have a longer than ordinary lunch break today, the reason being you will be aware that there are some consultative processes that are continuing, and the consultative process related to the open bill issue is meeting in this building today over lunch time and was hoping to have longer than an hour to do that.  


I understand from Mr. Shepherd ‑‑ I am not closely involved with this process myself, but I understand that it would be very helpful if up to two hours could be provided.


MR. KAISER:  Mr. Shepherd.


MR. SHEPHERD:  Mr. Chairman, most of the people in that consultative are in the room and we are right at the short strokes.  We are either going to settle or not, and that extra time may be the difference between settling and not.


MR. KAISER:  All right.  Well, let's do that.  If we rise at 12:00 and come back at 2:00, will that handle it?


MR. STEVENS:  Thank you very much sir.  The final scheduling I wanted to speak to was just to repeat something that was in an e‑mail that was sent out yesterday, which is that the company does not propose to put the deferral and variance accounts panel up until tomorrow, in any event.  


My sense, from the estimates I've heard, is we're going to be most of the day, anyway, on degree days, and so with that in mind, our thought would be that we would either start with the finish of degree days tomorrow or start with deferral and variance accounts tomorrow, but we wouldn't, in any event, start with deferral and variance accounts today.


MR. KAISER:  I understood that.  Did I understand the discussion last day that we thought we might be finished by noon on Friday?


MR. STEVENS:  I think it's fair to say that if degree days finishes today, we will be done by the lunch break tomorrow.


MR. KAISER:  All right.  Let's try and do that.


MR. MATTHEWS:  One point, Mr. Chair.  On that panel, I believe that they are also going to speak to the IVA charge.  And Direct Energy, if that proceeds, if we can't settle that with the company, we will have some questions on that, as well.


MR. KAISER:  Yes, of course.


MR. MATTHEWS:  We may have an availability problem with our counsel.  So we will have to work that out with the company.


MR. KAISER:  We will accommodate whatever your counsel's requirements are.


MR. MATTHEWS:  Thank you.


MR. STEVENS:  Thank you.  Just a couple more preliminary matters.


The first is I understand that the witness panel has reviewed the transcript from last day and Mr. Ladanyi has two items that he would like to speak to.


MR. LADANYI:  First, if you can turn to yesterday's transcript, page 92.


MR. KAISER:  Yes.


MR. LADANYI:  On top of the page on line 1, it says, "looking at their open prices".  Here we are discussing the large volume customers, and what -- the word should be "own prices", not "open prices".  It doesn't make any sense as open prices.


My next correction is on page 150.


MR. KAISER:  Yes.


MR. LADANYI:  At line 13, Mr. DeRose is asking me whether one should subtract 21.2 million from the 52 million outstanding revenue deficiency to arrive at the impact of applying the de Bever methodology to the numbers now before the Board.  


And I am afraid I guess either I misunderstood him or I gave a wrong impression, but he is correct, yes, one can subtract 21.2 million from the 52 million to arrive at the remaining deficiency, if one was to apply the de Bever methodology.


MR. VLAHOS:  Mr. Ladanyi, what would change, exactly, in the transcript?  I think that is what we need.


MR. LADANYI:  In the transcript?  Well, that's very ‑‑ I can't cross out a single word.  I could say, you know, "would not".  I said ‑‑ actually, if you look at Mr. Vlahos, go further on to -- I think it is at page 178.  Ms. Girvan now was confused with what I said, and she actually clarifies it on page 178.  


So I agree with what she is saying, but I actually seem to be disagreeing with what Mr. DeRose is saying.  So, it is correct one can subtract the 21.2 from the 52 million.  I can't strike a single word there.  I don't know.  I would have to change what I am saying.  


I mean, Mr. DeRose on line 13 says that the impact would not be 52 million subtract 21.2 million.  I said "right".  Actually, I should have said "not right".


MR. KAISER:  The 21.2 is the difference between what the 20‑year ‑‑ the deficiency of 12.9.


MR. LADANYI:  That's right.


MR. KAISER:  And the sufficiency that de Bever leads to of 8.3?


MR. LADANYI:  That's right.  So you would subtract the two and would leave a remaining sufficiency of 8.3, all other things being equal.  But there are other factors in effect, as well.


MR. STEVENS:  Thank you, Mr. Ladanyi.  Following up on that, Mr. Chair, it appeared at the end of the day last day that there was still some confusion about the sufficiency and deficiency numbers.


So what the company did was put together two brief documents which we hope will make this whole matter clearer.  We circulated these yesterday, and I understand that there is no objection from anybody in the room to having these filed.  So I was hoping that we could have them handed up to you and speak very briefly to them.


MR. KAISER:  All right.


MR. MILLAR:  Mr. Chair, these will be Exhibit K4.1, and it is titled:  2007 Test Year Approximate Elements of Changes In Volumes and Storage Deficiency Amounts.


MR. KAISER:  Do you want to take us through these, Mr. Stevens?


MR. STEVENS:  Would we be able to have these entered as two separate exhibits?  I think it might be easier to talk to that way.


MR. MILLAR:  Sure.  I have only marked them as one in the copy that the Panel has, so they can mark the second themselves.  The second page will be K4.2, and it is called:  Comparison of Nine Degree Day Forecast Methodologies -- Of Nine Different Degree Day Forecast Methodologies.


EXHIBIT NO. K4.1: DOCUMENT ENTITLED:  "2007 TEST YEAR 


APPROXIMATE ELEMENTS OF CHANGES IN VOLUMES AND STORAGE 


DEFICIENCY AMOUNTS"

EXHIBIT NO. K4.2:  DOCUMENT ENTITLED:  "COMPARISON OF 


NINE DIFFERENT DEGREE DAY FORECAST METHODOLOGIES"

MR. STEVENS:  Thank you.  I apologize for taking time on this panel.  I will be as brief as I can.  Turning first to Exhibit K4.2.  I understand, Ms. Chan, that what this is is a slightly expanded version of the chart that was attached to Board Staff 17 interrogatory?


MS. CHAN:  That's correct.


MR. STEVENS:  And can you just explain to me what's been added?  I understand there is a column added and a row added?


MS. CHAN:  Yes.  If you turn to Exhibit K4.2, we have updated this table by adding one column, which is column 9, which is the 20-year trend methodology that is proposed by the company.  


We have also added one row, which is item 1.7.  The difference between this item 1.7 and 1.5 is this one can give you a comparison between revenue deficiency for each of these degree days forecast methodology, relative to the 2006 Board-approved settled degree days of 3,745.  


MR. STEVENS:  Thank you.  


MR. KAISER:  Just stopping there.  That 2006 number that you are referring to, is that a settled number?  


MS. CHAN:  Yes.  It is a settle number, correct. 


MR. KAISER:  So it is not a number that came out of de Bever?  


MS. CHAN:  No.  


MR. STEVENS:  Thank you.  Then turning to Exhibit K4.1.  Now, Mr. Ladanyi, I understand that this is essentially the information that was sought in Undertaking J3.3, but to expand on it a little bit to address the question Mr. DeRose was asking around the five million dollar figure found in the settlement agreement.  


MR. LADANYI:  That's right.  So we were hoping that perhaps this would also be acceptable to the Board as a response to J3.3.  At the same time.  


MR. STEVENS:  Can you explain, just very briefly, what this exhibit shows.  


MR. LADANYI:  Well, this exhibit shows in the column 1, it shows the deficiency as originally filed and explains particularly column 2 of the drivers of the deficiency at Exhibit A2, tab 5, schedule 1 as filed on 2006/08/15.  


The current deficiency before the Board is of course $52 million, $52.1 million of unresolved issues.  The drivers of that deficiency is -- particularly the column 2 shows certain drivers of that deficiency and you can turn to that Exhibit - A2, tab 5, schedule 2 as filed on January 24th - and you will see that that column is 16.1 million.  It really just disaggregates those particular components of it and explains what portions are due to which element.  We discussed a lot yesterday, the degree day efficiency from applying the 20-year trend and that's the $12.9 million but there are also other components of the deficiency.  One is the decline in average use.  That is occurring every year and it certainly is going to occur in 2007 as well and that is $7.3 million.  


There is also a contract volume deficiency in a loss of contract volume -- contract customers' volumes.  There is also remaining storage and transportation deficiency after the settlement agreement was reached, which is another $2.6 million.  These have been offset by customer growth primarily and some other minor factors to arrive at the net $16.1 million.  


MR. STEVENS:  Thank you.  And as I understand it from your testimony, Mr. Ladanyi, the deficiency related solely to moving from de Bever -- or from the 20-year trend to de Bever would result in a sufficiency of $8.3 million.  Yet the settlement proposal speaks of a sufficiency of five million dollars.  Can you explain the difference between those two?  


MR. LADANYI:  Well, there are other factors in effect as I explained.  The difference between the two are things like change in average use, and contract volumes, and storage and transportation and customer ads.  So all of these have to be offset.  So the 16.1 number is not strictly dealing entirely with degree days, there are other factors in effect as well.  When you subtract 16.1 from 21.2 you will get $5 million, roughly.  


MR. STEVENS:  Thank you.  


MR. KAISER:  Those other factors would be the same, would they not, regardless of whether you are using de Bever or the 20-year trend? 


MR. LADANYI:  More or less they would be the same, yes.  


MR. STEVENS:  Thank you, Mr. Chair, for your indulgence.  


MR. VLAHOS:  Mr. Stevens, if I may.  Mr. Ladanyi, your Exhibit K4.1, is this also an attempt or a response to Undertaking J3.3?  Or would there be another response?  


MR. LADANYI:  Well, we were wondering whether it would be acceptable because I think it covers really the same area but we could look at it again if it is not acceptable.  That's why I asked that at the beginning.  


MR. STEVENS:  Mr. Vlahos, if it would be helpful we would be happy to file it in the conventional undertaking response format.  


MR. KAISER:  Thank you.  Mr. Shepherd, before you start, let me just go over a couple of these things with the witness.  I was reading the transcript last night, Mr. Ladanyi, or maybe Mrs. Chan or Mr. Denomy, and you recall we were having this discussion about the reliability of this formula, of this variable, I suppose, as part of the equation to predict the weather.  


You recall that we were concerned - or at least I was concerned - as to why the adjusted R-squared, which was 85.9 in the case of Toronto or the central region was so dramatically different from the adjusted R-squareds which were 0.15 in the case of Ottawa or the eastern region and 0.36 in the case of the Niagara region.  


You told us that at least looking at the adjusted R-squared, the models weren't very useful for the two regions outside of Toronto, but they were, in your view, reliable for estimating in Toronto where you said most of your customers were, 80 percent.  Then we went to the F-statistic, which again was a little bit higher, 2.7 in the case of Toronto; 0.71, I think it was, in the case of eastern, 0.32 in the case of Niagara.  


But as I read the transcript last night, you agreed that even in the Toronto area that F-statistic showed us that this model was unreliable at the 95 percent confidence level.  


MR. DENOMY:  Yes.  


MR. KAISER:  Now, I then went back and looked at the Union case, and you have said this, I think, but we can confirm this.  Union in their last case proposed exactly the same methodology, the 20-year trend.  


MR. DENOMY:  Yes, they did. 


MR. KAISER:  You no doubt read the Board's decision in that case?  


MR. DENOMY:  Yes.  


MR. KAISER:  And the Board rejected that largely because they found it to be statistically unreliable.  Do you agree with that?


MR. DENOMY:  Yes.  


MR. KAISER:  Now, I went back and looked at what analysis Union did and I think I may have a copy of the exhibit.  Do we have N3.2?  I just want to -- this was the similar analysis that Union filed to the analysis that you filed that we have just been discussing in Exhibit C2, tab 4, schedule 1.  In the Union case it was Exhibit N3.2 filed on October 15, 2003 and Allan Fogwill, QC, was the witness at the time, it turns out.  


I looked at the regression analysis Union did and put before the Board at that time and, lo and behold - this is on the first page, Mr. Denomy - I found an adjusted R-squared of 22.89 and a F-statistic of 6.6.  Those would both be better results than you have.  Would I be right?  


MR. DENOMY:  Yes, they would.  


MR. KAISER:  So am I putting too fine a point on it.  You are here arguing the same thing that the Board rejected in the Union case, and in the Union case the model was even stronger than the model that you are putting before us today.  Is that fair?  


MR. DENOMY:  To a certain extent.  We are arguing that the 20-year trend should be accepted based on its forecasting ability.  


MR. KAISER:  Right.  


MR. DENOMY:  The regression diagnostic statistics that you are currently looking at in terms of R-squared or the F-statistic are just but one thing that you have to look at when you are examining a model in terms of its predictive ability.  


MR. KAISER:  That is what I wanted to understand.  So what else -- so what else should we be looking at that would lead us to conclude that, in your case, it is more reliable than the Board found in the Enbridge case?  What's the difference?  


MR. DENOMY:  If you turn to Exhibit C2, tab 4, schedule 1, page 11.  Table 6.  


MR. KAISER:  Okay.  


MR. DENOMY:  Degree days are a very difficult variable to forecast and all of the models that we looked at tend to have a very low R‑squared, and the t statistics and F statistics are also quite low.


If you are throwing away a model solely on the basis of the regression diagnostics statistics, you may be throwing away a model that in fact has good predictive ability.  So rather than just looking at the adjusted R‑squared and the t statistics and F statistics, we decided to look at the predictive ability; in other words, the forecasting accuracy of the models.  And that is what is shown in table 6.  


We are concerned with getting an accurate forecast of degree days, and in table 6 you can see that we've ranked the models on the basis of accuracy, symmetry and stability.  And what we found was that despite the fact that the 20‑year trend does tend to have a lower R‑squared than some of the other models that we have examined and the t statistics are somewhat lower than the other models that we have examined, it actually produces the most accurate forecasts of degree days.


And that is the basis upon which we are recommending the 20‑year trend.


MR. KAISER:  Let me understand that, then, because I think this is important.


First of all, these degree days that we are using, is this Toronto data or ‑‑


MR. DENOMY:  This is strictly Toronto data.


MR. KAISER:  I think we had some discussion of this.  Is it -- are the results different if we start looking at Ottawa?


MR. DENOMY:  Yes, the results are different if we start looking at Ottawa.


MR. KAISER:  So we have that continuing problem.  All right.  So when you go to the accuracy, is that simply what the model predicted compared to the actual?


MR. DENOMY:  Yes.


MR. KAISER:  All right.  So 20‑year trend is closer than any of the other models in that regard?


MR. DENOMY:  That's correct.


MR. KAISER:  Then we go to symmetry.  What does symmetry mean?


MR. DENOMY:  Symmetry is whether or not the model tends to over-forecast or under-forecast.  There's two different ways you can look at it.  You can look at it by examining the mean percentage error, which is just the average of the percentage variance, and what you want to see is a mean percentage error that is close to zero.  It means that on average, the overages and underages are cancelling out.  


You can also look at it with respect to the number of times that it over-forecasts or under-forecasts, but that doesn't give you an idea of the magnitude of the over- or the under-forecast that is captured by the mean percentage error.


MR. KAISER:  All right.  Then we go to stability.  What is the additional qualitative ‑‑


MR. DENOMY:  Stability is -- as we've examined it, we classify that as the standard deviation of the forecasts.  You simply take all of the forecast values and calculate the standard deviation.


So the higher the standard deviation, the more volatile the forecast.  The lower the standard deviation, the less volatile the forecast.


One of the things with stability, however, is you will find that if you look at, for example, the 30‑year moving average, which is the one model below the 20‑year trend in table 6, you can see that it has a very stable forecast, but when you rank it on the basis of symmetry or accuracy, it doesn't even come close to the 20‑year trend.  


It is not as accurate.  It tends to over-forecast; in other words, have a biased forecast.


MR. KAISER:  When you add it all up in the last 

column --


MR. DENOMY:  Yes.


MR. KAISER:  -- how do you weight these three factors?  Are accuracy, symmetry and stability, as you define, them the same weight?


MR. DENOMY:  No, not in this table.  If you look at the accuracy statistics, we have used two.  Symmetry, we have used two, and stability or standard deviation, we have only used one.  So the weights implicit in our ranking are 40 percent accuracy, 40 percent symmetry, 20 percent stability.


MR. KAISER:  Now, I presume if we had different weights, we would have a different result?


MR. DENOMY:  Yes, you could.  


MR. KAISER:  And how would you justify 40/40/20?


MR. DENOMY:  Well, we think that accuracy and symmetry are more important than stability.  From a rate‑setting perspective, the more stable the model, obviously that is better.  But as I previously discussed, we want to get an accurate ‑‑ we want to get the right forecast of degree days.  You want to be closer to right than wrong on average, so it is more important to have a higher weighting to accuracy and symmetry.


MR. KAISER:  Has anyone else done this kind of analysis?  Is this a type of analysis that is used in any of the academic literature, or is this something that you guys have come up with?


MR. DENOMY:  All of these statistics that you see here, the mean absolute percent error, or MAPE, route mean squared percentage error, or RMSPE, they're all standard forecast accuracy statistics that are used in the field of forecasting, as are the mean percentage error, percent over-forecast and standard deviation.  They're all standard statistical tests that you would apply to a model.  


We have just taken a look at all of them and ranked them on the basis of accuracy, symmetry and stability.


MR. KAISER:  I understand that, but in terms of the weighting -- for instance, let me tell you a concern I had.  I was wondering - and I thought this was probably the weighting you were using - you've got 80 percent of this falling into one category.


MR. DENOMY:  Yes.


MR. KAISER:  Which happens to be the category that your proposal does well in, as opposed to stability.


Is there some overlap between accuracy and symmetry?  Are we measuring the same thing and, therefore, bumping the weight from 40 to 80?


MR. DENOMY:  Is there some overlap between accuracy and symmetry?


MR. KAISER:  Are we double counting in some sense?  It seemed to me, just intuitively, accuracy is the difference between actual and what the model predicts.  Symmetry is how close you go ‑‑ you know, there seems to be a similarity between those, between those two concepts.  


In other words, a model that is high on accuracy is going to be high on symmetry.  No?


MR. DENOMY:  Excuse me for just one minute, please.


[Witness panel confers]


MR. DENOMY:  You can ‑‑ accuracy, I think, would be the most important factor, and I think that you are correct in saying that the symmetry part would, to a certain extent, be captured by accuracy, yes.


MR. KAISER:  I tried to actually do overnight a bit of analysis similar to this and without really understanding your analysis fully at C2, tab 4.  But, again, what I was trying to do was compare the results of these different models.


MR. DENOMY:  Okay.


MR. KAISER:  I would like to put this table to you, if I can.  It may not -- it obviously doesn't have the weighting.  It may be comparable to your accuracy table.


MR. MILLAR:  Mr. Chair, would you like these marked as exhibits before we go any further?


MR. KAISER:  Yes.


MR. MILLAR:  The first one is undertaking N3.2 from RP-2003‑0063.  That will be K4.3. 


EXHIBIT NO. K4.3:  UNDERTAKING N3.2 FROM 


RP-2003‑0063.

MR. MILLAR:  This new document is a table showing actual and forecast Toronto degree days.


MR. KAISER:  Table 4 on the second page, Mr. Millar, is gas supply ‑‑


MR. MILLAR:  I'm sorry, Mr. Chair, are these from the current proceeding?  I see the exhibit number at the top.


MR. KAISER:  Yes.  Those are the sources.


MR. MILLAR:  I see.  They're just pulled out of the existing record? 


MR. KAISER:  We pulled it from different parts of the existing record, but I am going to get the witness to confirm the data.


MR. MILLAR:  That's fine.  We can mark it as one exhibit?


MR. KAISER:  That's fine.


MR. MILLAR:  It will be K4.4, Mr. Chair.



EXHIBIT NO. K4.4:  TABLE SHOWING ACTUAL AND FORECAST 


TORONTO DEGREE DAYS.

MR. KAISER:  First of all, Mr. Denomy, I went back and looked at your formula and I failed to see how I could convert Toronto degree days to gas supply degree days, and there's two sets of data floating around in this record.  Is there a formula somewhere that does that?


MR. DENOMY:  Yes.


MR. KAISER:  I thought you referred us to one yesterday, but I couldn't make it work.


MR. DENOMY:  If you refer to Exhibit C2, tab 4, schedule 1, page 23, and if you hook at the bottom of page 23 under table 13, footnote B, you can see the equation for converting Environment Canada degree days to gas supply degree days is the following:  Gas supply degree days are equal to 1.5 ‑‑ excuse me, 156.7881, plus 0.94496, times Environment Canada degree days.  


So if you are looking at column 2, you can see the forecast of Environment Canada degree days for fiscal 2006 is 3,681 degree days.  You apply that to the formula I just read, and you end up with 3,635 degree days, gas supply degree days.  


MR. KAISER:  All right.  So I see it now.  So in 2005, 3,772, which is on table 13 of this page, that matches the 2005 figure that I have given you in my exhibit.  So the Toronto degree days are the same as Environment Canada degree days?  


MR. DENOMY:  The Toronto degree days are the same as the Environment Canada degree days, yes.  


MR. KAISER:  Okay.  So let's just go to this latest document, the 2005 we had the actual 3772, which corresponds to your evidence at C2, tab 4, schedule 1.  


Then we have Mr. de Bever's number that would result with his model. 


MR. DENOMY:  Yes.  


MR. KAISER:  He's higher by 34 degree days.  


MR. DENOMY:  Yes.  


MR. KAISER:  Which you would say would lead to -- is an indication of forecasting excess revenue.  


MR. DENOMY:  Forecasting excess revenue?  


MR. KAISER:  Right.  


MR. DENOMY:  Yes.  


MR. KAISER:  So the previous two years, he was under.  Here he is 1 percent over.  Previous two years he is under by 6 percent and 9 percent.  2002 he was over by 13 percent. 


MR. DENOMY:  Yes.  


MR. KAISER:  So then I went to the 20-year trend and that would have got us, instead of over in 2005, it would have got us under by 125 degree days.  


MR. DENOMY:  Yes.  


MR. KAISER:  Which is three percent.  So if we were just to look at accuracy in this one year, I know you can't look at one year, de Bever was more accurate.  


MR. DENOMY:  If you are just looking at the one year, 2005, de Bever would be more accurate, yes.  


MR. KAISER:  Now, then what I tried to do is calculate the average error.  So de Bever, I got 111, a difference of 3 percent on the complete term, 1990 to 2006.  Using your 20 degree, I got minus 7.  


MR. DENOMY:  Yes.  


MR. KAISER:  You would agree with those numbers?  


MR. DENOMY:  Yes, I do, subject to check, sure.  


MR. KAISER:  So am I to understand just this point, if the Board used de Bever and this was representative, this 20-year term, whatever it is, 1990 to 2006, 16 years, I guess, de Bever would have got us 3 percent over and 20-year trend would have got us 7 percent under.  


MR. DENOMY:  Would have gotten us 0. --MR. KAISER:  I’m sorry, 0.2. 


MR. DENOMY:  Under. 


MR. KAISER:  So looking at my numbers, it would correspond with your conclusion that 20-year trend is more accurate?  


MR. DENOMY:  Yes.  


MR. KAISER:  Then I went to see what would happen if we used the Union one that the Board determined in the Union case, this 50/50. 


MR. DENOMY:  That's the last three columns. 


MR. KAISER:  That was 4 percent over. 


MR. DENOMY:  Yes.  


MR. KAISER:  So that would be less accurate than even de Bever?  


MR. DENOMY:  Yes.  


MR. KAISER:  All right, thank you, Mr. Denomy.  


MR. DENOMY:  You're welcome, sir.  


MR. KAISER:  Sorry, Mr. Shepherd.  


MR. SHEPHERD:  Mr. Chairman, in 15 minutes you covered about 45 minutes of my cross.  So thank you very much.  


MR. KAISER:  I used to hate people that did that when I was counsel.  


CROSS-EXAMINATION BY MR. SHEPHERD:


MR. SHEPHERD:  I have nothing to say.  


Witnesses, my name is Jay Shepherd I represent Schools.  Schools are a weather-sensitive group of customers, largely in the high volume of Rate 6, and they think your change in methodology has about a $350,000 to $400,000 a year rate impact on them.  


So let me start by trying to nail down this question of the impact, because we think that the impact is so much and let me see whether I've got the right idea.  


Maybe you could turn to your K4.2.  Do you have that?  Can you take a look at column 2, line 1.5, that figure 21.2 million.  Do you see that?  


MR. LADANYI:  Yes, we see that.  


MR. SHEPHERD:  Okay.  Tell me whether I am right.  The way you calculate that or one way to look at that is, you take the existing rates, you calculate volumes using 20-year trend, and you separately calculate volumes using de Bever, and you see what revenues you produce in those two scenarios.  The difference between them is $21.2 million; is that right?  


MR. LADANYI:  That's right.  


MR. SHEPHERD:  Okay.  So that's not the actual impact on ratepayers in 2007, right?  Because the existing rates assume the 2006 revenue requirement.  But you are actually going to collect the 2007 revenue requirement.  Right?  


MR. LADANYI:  Right.  So as we explained before, the existing rates are based on 3745 degree days.  De Bever methodology has a different number degree days.  


MR. SHEPHERD:  Well, no.  That's not my question.  I'm not going there.  


The degree days calculation doesn't affect your revenue requirement, does it?  


MR. LADANYI:  I'm sorry? 


MR. SHEPHERD:  How you collect your revenue. 


MR. LADANYI:  How we collect our revenue? 


MR. SHEPHERD:  It doesn't affect what your revenue requirement is. 


MR. LADANYI:  In cost of service, what really the utility does, it has a forecast of its revenue requirement, which is the forecast of all its operating costs, capital costs, taxes, and so on.  Then -- that is done for a test year, in this case 2007.  Then it has a forecast of its revenues at existing rates, which is the revenue forecast.  It then compares the two.  If the revenue forecast is smaller or insufficient, to cover the revenue requirement, it has a revenue deficiency and asks for an increase in rates.  


So if the revenue forecast is greater, then the increased rates would be lower.  And if the revenue forecast is greater than revenue requirement then there is in fact a sufficiency or decrease in rates.  


MR. SHEPHERD:  So if your revenue requirement goes up from one year to the next, then unless your volumes go up by a similar amount, you're going to have a deficiency; right?  


MR. LADANYI:  Exactly.  So if the revenue requirement, so if your costs, for example, in 2007 are greater than costs in 2006, then it will obviously have an impact on the deficiency. 


MR. SHEPHERD:  In fact if you want to calculate the impact on ratepayers of this weather decision, for example, that's 21.2 is the amount in play you're saying is the amount in play between the Board deciding on de Bever and deciding on 20-year trend; right?  


MR. LADANYI:  Right.  


MR. SHEPHERD:  Okay.  But that's assuming the 2006 revenue requirement.  That's not assuming the 2007 revenue requirement.  If you increase the revenue requirement by 10 percent, then the amount in play is going to increase as well, right? 


MR. LADANYI:  No, that is wrong actually.  This is based on the 2007 revenue requirement.  We are discussing a deficiency -- when we discussed the total deficiency, and the deficiency that Mr. Culbert filed when we filed the settlement proposal, we're discussing deficiency calculation with respect to what we filed in this case, which is the revenue requirement for 2007.  That's the deficiency.  


MR. SHEPHERD:  I thought this would be easier than that.  That's mathematically impossible, what you are saying, so let me try it a different way.  


You agreed that you take 2006 rates, which are -- 2006 rates are based on 2006 revenue requirement; right?  


MR. LADANYI:  Right.  


MR. SHEPHERD:  And you say, let's look at the volumes for 2007.  Right?  And use those rates to see what revenue we get.  


MR. LADANYI:  No.  I think you said first 2006 revenue requirement.  I think I said 2007 revenue requirement.  


MR. SHEPHERD:  But that is not what you do, is it?  When you calculate deficiency, you start by saying:  If we have the 2006 rates, and we have the 2007 volumes, how much would we get?  And how much is that short of what we need?  


MR. LADANYI:  That's what I said.  But that is 2007 volumes times the 2006 rates, if you like, minus the 2007 revenue requirement, which is 2007 cost, not 2006 cost. 


MR. SHEPHERD:  So the revenue requirement’s at the end and when you compare two different weather methodologies, you don't get to that revenue requirement.  You are only taking 2006 rates and 2007 volumes compare the two.  The revenue requirement for 2007 doesn't come into that equation, does it?  


MR. LADANYI:  No.  In this particular schedule, we are only discussing the revenue forecast.  If the revenue requirement was higher or greater, the respective differences between these two numbers would exactly remain the same.  That's what I was trying to explain yesterday.


MR. SHEPHERD:  Okay.  I am going to ask you ‑‑ sorry, the difference isn't actually that great.  It is only, like, 5 percent, but I am going to ask you to give me an undertaking to check that that statement you just made, that there is no difference if you use the 2007 revenue requirement -- I am going to ask you to check that that is correct, okay, and come back to this Board.


MR. LADANYI:  Let me just understand better what you are saying.  You're saying the number should be different, should not be $21.2 million.  It should be some other different number if you had a different revenue requirement?


MR. SHEPHERD:  It is actually higher.


MR. LADANYI:  That's your proposition?


MR. SHEPHERD:  Yes.  It is actually higher by, I think, something like 3 or 4 percent on the numbers we are talking about in your revenue requirement.


MR. LADANYI:  I'm still kind of puzzled by your question.  Are you suggesting we recalculate the 2006 revenue requirement?


MR. SHEPHERD:  No.


MR. LADANYI:  And do a deficiency calculation?  I'm having difficulty understanding what you are trying to get here.


MR. SHEPHERD:  Let me come at it a different way.  I'm sorry to take so much time on this.  I thought it was actually simple.


If you want to look at the impact on 2007 - that is, what the ratepayers will actually experience - what you would do - tell me whether this is correct - is you would say, Okay, what's my revenue requirement?  What are the rates based on a particular volume number?  Let's say you use 20‑year trend.  So you say -- what is it, 3,617 degree days.


MR. LADANYI:  That's right.


MR. SHEPHERD:  Let's assume 3,617 degree days.  What are my rates?


Now, let's look at what happens if the actual is the de Bever degree days.  What am I going to collect?  That difference is what the ratepayers pay extra, because you got the forecast wrong; right?


MR. LADANYI:  Let me put it this way.  I think we're having difficulty understanding this.  What we are doing here is we have a revenue forecast at existing rates.  Therefore, if we have a revenue forecast at existing rates, if we have a larger revenue forecast, we are going to have more units of gas.  So if you use de Bever, we are going to have, obviously, a lower cost per unit volume, if you like, than is being recovered in units of gas.


All that this exhibit shows is, if you have de Bever, we are going to have greater revenue recovery, essentially, on a forecast basis, but the actuals might be quite different, you see.  So if we recovered lower units of gas in actual fact, we will not get this money and, therefore, we will be short.  We will have unrecovered costs.


MR. SHEPHERD:  I don't want to waste the Board's time with what is essentially a mathematical discussion about $1 million.


So I am going to ask you to undertake to confirm that your statement that the actual rate impact of choosing one or the other in 2007 is 21.2 as opposed to some larger number.


MR. STEVENS:  I am having trouble following your question.  I have heard the whole discussion, Mr. Shepherd.


Perhaps you can say the statement that you think that you heard, in terms of the portion that relates to 2006 and the portion that relates to 2007, and that will be the easiest way for us to understand the undertaking we are giving.


My concern is there's been a lot of discussion here, and to isolate your question to one statement in several pages of transcript may be difficult.


MR. SHEPHERD:  Right after the statement I said I would like an undertaking for you to confirm that, right after it.  Mr. Ladanyi said the 21.2 will be exactly the same if you apply it to the 2007 revenue requirement.  Exactly the same, I think were his exact words.  


So I am asking him to confirm that statement.  If you like, I will talk to you offline about that and make sure that we are clear on what we are talking about.  I am happy to do that.


MR. STEVENS:  That's fine.  Thank you.


MR. SHEPHERD:  That was an inauspicious start.


MR. MILLAR:  That is undertaking -- assuming it's been taken, undertaking J4.1.  Mr. Shepherd, I don't want us to repeat all of the last five minutes, but can you give us ten words or less on what the undertaking is, ten to 20 words?


MR. SHEPHERD:  Confirm that when applied to the 2007 revenue requirement, the difference between de Bever weather methodology and 20‑year trend methodology is $21.2 million. 


UNDERTAKING NO. J4.1:  CONFIRM THAT WHEN APPLIED TO 


THE 2007 REVENUE REQUIREMENT, THE DIFFERENCE BETWEEN 


DE BEVER WEATHER METHODOLOGY AND 20‑YEAR TREND 


METHODOLOGY IS $21.2 MILLION. 

MR. SHEPHERD:  Let me just ask one other thing about this area.  Do you know how much impact this has ‑‑ let's assume the 21.2 is correct.  Let's not go there again -- how much impact that is on Rates 1 and Rate 6?  


It's not simply spread volumetrically over all of the rate classes, right, because some are more weather sensitive than others?


MR. LADANYI:  That's right.


MR. SHEPHERD:  So is it fair to say that about 13 million of that is in Rate 1 and 6 million is in Rate 6?  Am I in the right range, or if you want, you can 

undertake ‑‑ 


MR. LADANYI:  We will have to undertake that.  We don't know if that is correct.  It might be correct.


MR. MILLAR:  J4.2.  Again, Mr. Shepherd, a short summary.


MR. SHEPHERD:  The portion of the $21.2 million impact between existing and proposed methodology that is Rate 1 and the proportion that is Rate 6, in dollars preferably.


UNDERTAKING NO. J4.2:  PORTION, IN DOLLARS, OF THE 


$21.2 MILLION IMPACT BETWEEN EXISTING AND PROPOSED 


METHODOLOGY THAT IS RATE 1 AND PROPORTION THAT IS 


RATE 6.

MR. SHEPHERD:  Just one other clean-up question here before I get to my real questions.


I looked through the evidence and I couldn't find the degree days calculated using the de Bever methodology for 2007.  I'm sure it's in there somewhere, but I couldn't find it.  Do you know where it is or can you help me -- just tell me what they are?


MR. STEVENS:  I think, Mr. Shepherd, if you turn to Exhibit C2, tab 4, schedule 1, page 15.


MR. SHEPHERD:  Page 15?


MR. STEVENS:  Forecast from 2006 to 2008 using the variety of ‑‑


MR. SHEPHERD:  Oh, there you go, 3,848.  Thank you.


And the reason why 2008 is also 3,848 is because the way de Bever works, you have to have 2007 actuals in order to do 2008; right?


MR. DENOMY:  That's correct, yes.


MR. SHEPHERD:  You just use the same for 2007?


MR. DENOMY:  Yes.


MR. SHEPHERD:  That number in 2008 wouldn't actually be 3,848.  It would be something different.  You just don't know yet?


MR. DENOMY:  Yes.


MR. SHEPHERD:  Okay.  So you've been asked a couple of terminology questions, and I am going to ask a couple of other ones, because something has confused me.


First, Mr. Denomy ‑‑ Mr. Denomy; is that right?


MR. DENOMY:  Yes.


MR. SHEPHERD:  In your direct evidence, you talked about the 30‑year moving average method, and it is commonly used.  In fact, it has been used by Environment Canada for years; right?


MR. DENOMY:  As a reference value, yes.


MR. SHEPHERD:  So that is my question.  So you said it is not used as a forecast.  It is used as a reference model.  Tell us what the difference is.


MR. DENOMY:  Well, the forecast would be producing a point estimate of what they think degree days are for a given year.


If you look at a lot of the weather forecasts that Environment Canada does, they will say that weather is going to be either colder than normal or warmer than normal, but they don't tell you exactly what the temperature forecast is.  They're just basing it relative to the 30‑year moving average.


MR. SHEPHERD:  So when they say colder than normal, they mean colder than 30‑year moving average?


MR. DENOMY:  Yes.


MR. SHEPHERD:  So then they think that 30‑year moving average is what constitutes normal?


MR. DENOMY:  That's the reference value.  Whether or not -- well, it's their reference value.


MR. SHEPHERD:  When they say colder than normal, they mean colder than 30-year moving average?


MR. DENOMY:  Yes.


MR. SHEPHERD:  Thank you.  Then you were asked some questions about the various types of degree days by Mr. DeRose, and then by Mr. Kaiser.


Sadly, I am still confused.  So you have three different types.  You have Environment Canada degree days, gas supply degree days and balance point degree days?


MR. DENOMY:  Yes.


MR. SHEPHERD:  So Environment Canada degree days are just straight calculations of temperature each day, average temperature each day?


MR. DENOMY:  Yes.


MR. SHEPHERD:  And then you convert that, using this formula you just talked about, to gas supply degree days; and why do you use that formula?  Why do you do the conversion?


MR. DENOMY:  Well, we set our budgets on gas supply degree days.  So we need to use gas supply degree days as opposed to Environment Canada.


MR. SHEPHERD:  How are they different?  I mean, the formula isn't just a bunch of numbers.  It has some meaning.  What is the underlying meaning?


MR. DENOMY:  Why are Environment Canada degree days different from gas supply degree days?


MR. SHEPHERD:  Yes.


MR. DENOMY:  I think I explained this in response to one interrogatory, but the primary difference is Environment Canada degree days use an average temperature of the maximum and minimum for the day versus 18 degrees Celsius; whereas gas supply degree day use the average of hourly temperatures over a 24-hour period versus 18 degrees Celsius.


MR. SHEPHERD:  So your formula doesn't actually calculate the gas supply degree days.  What it does is statistically you have demonstrated that there is a relationship between gas supply degree days and Environment Canada degree days and so you use that statistical relationship to convert.  But that is -- I mean to do it correctly you would have to actually do the measurements every hour for every day; right?  


MR. DENOMY:  Yes.  


MR. SHEPHERD:  But you don't need to do that because the correlation is very exact. 


MR. DENOMY:  Yes.  


MR. SHEPHERD:  Okay, thanks.  Then balance point degree days you use -- instead of using 18 degrees which is the standard, you use different thresholds in different regions. 


MR. DENOMY:  Yes, that's right. 


MR. SHEPHERD:  Right?  And the reason is because that's your experience with when people turn their furnace on?  


MR. DENOMY:  Just give me one moment, please.  


[Witness panel confers]  


MR. DENOMY:  Yes, that's the reason.  


MR. SHEPHERD:  Okay.  So when you do a comparison of the models as you did here in, for example, on page 11 -- page 9 of Exhibit C2, tab 4, schedule 1 you have this chart.  


Those are gas supply degree days?  


MR. DENOMY:  Sorry, which page, Mr. Shepherd?  


MR. SHEPHERD:  Sorry.  C2, tab 4, schedule 1, page 9.  


MR. DENOMY:  Okay.  


MR. SHEPHERD:  Now, those are Environment Canada or gas supply. 


MR. DENOMY:  These are Environment Canada degree days.  


MR. SHEPHERD:  Okay.  If you compared gas supply degree days, they would be the same because of the fixed correlation between the two; right?  


MR. DENOMY:  Um... 


MR. SHEPHERD:  It wouldn’t be the same numbers, but you would have the same net results?  


MR. DENOMY:  If we were to do this comparison here?  


MR. SHEPHERD:  Yes.  


MR. DENOMY:  What we have done in evidence on Environment Canada degree days, if we were to do it on gas supply degree days, would we come up with the same result?  


MR. SHEPHERD:  Yes.  


MR. DENOMY:  I would say, yes, it would be the same.  


MR. SHEPHERD:  So while your statistical test, standard deviation, root mean square percentage error, all of that sort of stuff, would be the same because you are just correlating one to the other?  


MR. DENOMY:  Yes. 


MR. SHEPHERD:  But if you did that with balance point degree days you wouldn't get the same result; right?  Because you don't have a fixed correlation? 


[Witness panel confers]  


MR. DENOMY:  I haven't done those calculations, but I think it would still be the same, because the balance point degree days are just a linear transformation of the gas supply degree days.  It is a constant difference that you are applying to your degree days when you are calculating them.  So I think it would be the same. 


MR. SHEPHERD:  So you would have regional differences but you wouldn't have an overall difference. 


MR. DENOMY:  No, I wouldn't think so.  


MR. SHEPHERD:  All right.  Then the regional differences is because you have different thresholds in different regions. 


MR. DENOMY:  Yes.  


MR. SHEPHERD:  Okay.  None of this evidence refers to balance point degree days.  You're not concerned with that here.  That is for other purposes; right?  


MR. DENOMY:  Yes.  


MR. SHEPHERD:  But when we are talking throughout this discussion about degree days, we are generally talking about gas supply degree days?  Most of the time?  


MR. DENOMY:  Yes.  


MR. SHEPHERD:  And that is the number on which you do your volume projections.  


MR. DENOMY:  Yes.  


MR. SHEPHERD:  Okay.  You forecast the degree days for each region separately; right?  


MR. DENOMY:  Yes. 


MR. SHEPHERD:  But you use the same model for each of them?  


MR. DENOMY:  Yes.  


MR. SHEPHERD:  And so when you give a number, like this 3,617, that's not a composite number, that is actually the Toronto number. 


MR. DENOMY:  Yes.  


MR. SHEPHERD:  That's because that is 80 percent?  


MR. DENOMY:  Yes.  


MR. SHEPHERD:  This is probably a dumb question, but you referred a number of places to Toronto region, eastern region and Niagara region, but then in one place you referred to Metro, central, western and northern.  


So that, of course got me all confused.  Can you help me out with what the difference is?  


MR. DENOMY:  Yeah, sure.  


We forecast degree days for each of the companies' weather zones, central which is Toronto, eastern which is Ottawa, and Niagara-St. Catharines.  But when we do the volume forecasts or the average use forecasts with the regression models, we have much finer detail, in terms of the central weather zone.  


So the central weather zone can be broken up into Metro, western, central and northern.  But we apply the same degree day values for each of those four regions within the central weather zone.  


MR. SHEPHERD:  So the City of Toronto is Metro. 


MR. DENOMY:  Yes. 


MR. SHEPHERD:  Then you have western, which is Mississauga and Brampton?  


MR. DENOMY:  Yes. 


MR. SHEPHERD:  Then you have, like you go all the way up to Barrie; right?  


MR. DENOMY:  Yes.  


MR. SHEPHERD:  So your actual weather experience north of Toronto is quite different from Toronto, isn't it?  


MR. DENOMY:  I would say they're fairly similar, but, yes, they could be different.  


MR. SHEPHERD:  Then eastern goes all the way to, does it go to Peterborough?  It goes to Oshawa and stuff like that. 


MR. DENOMY:  And Peterborough, yes. 


MR. SHEPHERD:  And Peterborough.  Again that is not -- my friends in Oshawa tell me they don't have the same weather as we have in Toronto.  Is that right?  Generally?  


MR. DENOMY:  It would be slightly -- it could be raining there and it could not be raining here.  


MR. SHEPHERD:  Let me just ask one other -- by the way, you have said in your evidence 3,617 degree days, and I have all of this stuff here that says 3,623 degree days is your forecast using 20-year trend.  Has that been updated or have I just got that wrong?  


MR. DENOMY:  Oh, yes.  The difference between the two is fiscal year and calendar year.  So 3,617 is calendar year.  And the -- excuse me.  


MR. SHEPHERD:  3,623 is the number that you have in all of your charts.  


MR. DENOMY:  3,623 would be the fiscal year, I believe.  Yes.  Fiscal year.  


MR. SHEPHERD:  Okay.  Is that somewhere in the evidence, that you have that difference?  


MR. DENOMY:  I'm sorry. 


MR. SHEPHERD:  Have you explained that somewhere in your evidence, that all of these numbers are fiscal year numbers?  


MR. DENOMY:  Yes.  I believe all of the tables and charts and graphs are labelled "fiscal year" in the degree day evidence.  


MR. SHEPHERD:  All right.  


So that 3,617 degree days that you are asking for in a calendar-year basis, that is a gas supply degree days number?  


MR. DENOMY:  That's correct. 


MR. SHEPHERD:  That equates to something like 3,764 Environment Canada degree days?  I'm sure I'm wrong there.  3,600 and something.  


MR. DENOMY:  3,669.  


MR. SHEPHERD:  3,669. 


MR. DENOMY:  Is that what you are looking for?  


MR. SHEPHERD:  Yes.  Let me just ask one other clarifying question.  If you could take a look at C1, tab 3, schedule 1, page 4.  


Do you have that?  


MR. DENOMY:  Yes.  


MR. SHEPHERD:  You refer here right near the top of the page, you refer here to average uses on a test-year weather-normalized basis.  


I have never heard the term test-year weather-normalized.  So could you tell me how does that relate to just normalized.  Is that something different?  


MS. CHAN:  No.  We always use that terminology.  When we say test year, that means currently what we filed, 2007 test year budget.  


This is the usual exhibit we present in the past rate case.  All the historical actual are normalized to 2007 test year budget degree days such that one can compare the historical trend holding other things constant. 


MR. SHEPHERD:  So when you do all of these charts, you assume the degree days for all of those years were 3,617?  


MS. CHAN:  When we do the chart -- when you try to assess the historical normalized average use trend, one has to remove all of those year weather impact.  So I give you example.  


If I have 1995 actual, we will basically remove the weather impact between 1995 actual and basically 2007 budget degree days, such that you can assess the normalized trend holding the weather constant.  


MR. SHEPHERD:  Would it make any difference if you used the de Bever number?  


MS. CHAN:  No.  Because we are just looking at the trend.  Year-over-year percent change would not be materially changed. 


MR. SHEPHERD:  So the numbers would be different, but the shape of your chart would be the same?  


MS. CHAN:  Would be the same, yes.  


MR. SHEPHERD:  The relationships would be the same?  


MS. CHAN:  Yes, yes.  

MR. SHEPHERD:  So when you report normalized revenues or profits normalized ROE, you are doing that to take out the impact of weather variability; right?


MS. CHAN:  Yes.


MR. SHEPHERD:  When you do that, you use ‑‑ you convert that data to what would have been the case had degree days been as forecast for that year?


MS. CHAN:  For that year.  Two different aspects.  Here is looking at historical trend and your -- another question is:  Assuming when you have one particular year of actual data, if you want to say, Have we achieved that test year budget degree days, what would be your normalized number?  And that is basically another different aspect.


MR. SHEPHERD:  Excellent.  You normalized to gas supply degree days?


MS. CHAN:  To the 3,670 degree days.


I mean, I believe yesterday we also talked about, when we normalize for the general service, we use balance point degree days, and that degree day has been presented and filed and also approved by the Board in the EBRO 487.


The degree days methodology comes from Mr. Joel Denomy, and when we basically -- to come up with a normalized number, you need to have appropriate heating load, and that would be the balance point comes into play.  But at the end of the day, it is exactly the same degree days methodology.


MR. SHEPHERD:  So when I asked you do you use 3,617 degree days for this, you don't, actually, because balance point degree days aren't 3,617?  They're quite a different number.  


MS. CHAN:  I would say we do use that degree days, but when you trying to get appropriate heating load, you should use appropriate balance point degree days.


MR. SHEPHERD:  No, I'm not disagreeing that you should use balance point.  I am just trying to make sure that that is the number you're using, because if you use 3,617, that is not the balance point degree days, is it?


MS. CHAN:  Maybe we are talking about trying two different things.  When you say 3,617, if I take your question -- interpret your question correctly, if you are asking me are we using 20‑year test year degree days methodology, yes, we do.


If you are saying a particular number, then I will say when we come up with a normalized appropriate heating load, we need to transform these 3,617 degree days to a balance point degree days.


MR. SHEPHERD:  So the number you use -- like, in this figure 1 on this page 4 here, the number you used for that wasn't 3,617.  You used whatever the balance point degree days were for 2007 using the 20‑year trend methodology.


MS. CHAN:  Yes, yes, that's correct.


MR. SHEPHERD:  Perfect.  You used only the Toronto number, or do you do it separately by region?


MS. CHAN:  We do it by region, by weather zone.  As far in EBRO 487, we have three balance point.  One is for central weather zone, one is for Niagara and one for eastern region. 


MR. SHEPHERD:  Okay.  Let me turn to you, Mr. Ladanyi, for a few questions, because I want to make sure I understand the scope of this issue.


We will actually get to the statistics later.  This may sound very simplistic, but obviously if you get the forecast -- if you over-forecast, then you collect less than you need to cover your revenue requirement; right?


MR. LADANYI:  That's right.


MR. SHEPHERD:  If you under-forecast, you collect more than you need?


MR. LADANYI:  Correct.


MR. SHEPHERD:  So the first and perhaps most important reason why you want to get the weather forecast right is to make sure you collect the right amount of rates?


MR. LADANYI:  That is right.


MR. SHEPHERD:  Is it also true that getting the weather forecast right is going to affect how you recover variance accounts and regulatory assets, right, or pay them back, if you are paying them back?


MR. LADANYI:  If those variance accounts are recovered on a volumetric basis.


MR. SHEPHERD:  Which they often are; right?


MR. LADANYI:  That's right.


MR. SHEPHERD:  You use the weather forecast for a lot of operational decisions, as well?


MR. LADANYI:  You'll have to be more specific here for me to understand what you are asking here.


MR. SHEPHERD:  Do you use the degree days methodology for operational decisions?  


MR. LADANYI:  If you are talking about gas supply planning, it is done on a different methodology.  It is done differently.  And so we are not here to -- you know, to present any evidence on that.  But it's done differently.


This weather methodology is not used for gas supply planning, I am trying to explain to you.  The gas supply planning is done to meet the peak day load and it is done differently.


MR. SHEPHERD:  You still have to forecast the weather.  You just forecast it for different purposes?


MR. LADANYI:  You forecast differently for different purposes.


MR. SHEPHERD:  Okay.  What about decisions like work management and customer additions and stuff like that?  Aren't they affected by degree day forecasts, or not?


MR. LADANYI:  They wouldn't be ‑‑ if you are talking about the forecast of work management costs or of the, for example, customer additions, no, they're not affected by degree day forecasts.


The actuals might be in some way.  If there is a particularly severe winter, you might be affected, have additional operating costs they wouldn't have forecasted for, but other than that, no, they're not generally affected by degree days.


MR. SHEPHERD:  Okay.  The weather forecast also affects some of your cost allocation, right, because you have a few of your costs that are volume driven?  So if you use a different forecast, then you will allocate costs I think differently; is that right?


MR. LADANYI:  Definitely.  You will have different units of gas to recover those costs over, or to allocate those costs to.


MR. SHEPHERD:  But the number of your costs that are driven by volumetric, by m3 as opposed to by demand analysis, is relatively low, isn't it?


MR. LADANYI:  Well, I would say one of the difficulties, since we are getting into philosophy of what's going on here, is that one of the difficulties in distribution rate‑setting is that a lot of the fixed costs are recovered on a volumetric basis.  Ideally, you would like to have a rate design whereby your fixed costs are recovered through a fixed monthly charge, all your fixed costs, and all of your volume driven costs are key covered through a volumetric charge, but that has not been practice in distribution rate‑setting.


MR. SHEPHERD:  Because that would make your fixed costs very large relative to volume?


MR. LADANYI:  Correct.  It would make it similar to, for example, the way cable TV rates are.  You pay a very high fixed monthly charge.  People using natural gas are not used to that kind of rate‑setting, so they wouldn't probably be happy with it.


MR. SHEPHERD:  You use weather forecasting during the year to make mitigation decisions; isn't that correct?  So, for example, if you have a warm year -- like last year, you had a very warm year relative to what you expected.


The company has to decide whether to reduce costs in order to keep as close as possible to ROE; right?


MR. LADANYI:  Well, the issue, it is not so much the ROE, per se, but the company has financial obligations.  It has to pay interest on its bonds.  It has to pay its suppliers.  So those costs don't go away.  They have to be paid for.  That is how we stay in business.  


So if we are not getting enough money through rate recovery, we have to find this money some other way.  It makes it very tough.


MR. SHEPHERD:  But you use a different type of weather forecasting for that, obviously, because it is a much shorter term?


MR. LADANYI:  It's not a forecasting.  We just respond to the actual conditions as they arise.


MR. SHEPHERD:  I see.  You use the weather methodology ‑‑ I guess you use the same methodology, when you are dealing with investors and investment bankers, to explain variances in your financial reports?


MR. LADANYI:  Well, to the extent that the analysts ‑‑ now I am getting into an area that is really outside my expertise, but I think that the investment analysts would like to know how much of the company's performance is due to differences in weather and how much is due to what the management itself has done.  Therefore, they want the weather-normalized results.  They want to look at those, in addition to the actual results of the company.


MR. SHEPHERD:  Okay.  So I wonder if you could turn to Exhibit A3, tab 4, schedule 1, page 3.


MR. LADANYI:  I don't have that in front of me.  I will need that.


MR. SHEPHERD:  I'll wait.


MR. LADANYI:  Financial statements, yes, I see that. 


MR. SHEPHERD:  This is your financial report, your annual report for EGD for 2005; right?


MR. LADANYI:  I see it, yes.


MR. SHEPHERD:  Okay.  So you see at the top of the page there this line that is colder or warmer than normal weather and the impact during those periods of that factor, right, on your income?


MR. LADANYI:  I see that.


MR. SHEPHERD:  Colder than normal, that is not the same colder than normal that Mr. Denomy referred to; right?  This is a colder than forecast?


MR. LADANYI:  I would say that it's colder than the Board-approved weather forecast.


So in the case ‑‑ let's say in some year you might have used de Bever methodology.  In these particular years that we see, 2004 and 2003, I believe that 2003 was a settled number.  In 2004, it was exactly the same number as 2003.  So it was because we did not have a different degree day number for 2004.


So essentially this is compared to the settled number of degree days.


MR. SHEPHERD:  Well, you have 2005 there, too.  2005 is also ‑‑


MR. LADANYI:  2005 is a blank rate here on my schedule, but maybe you have something on yours.


MR. SHEPHERD:  It's a blank because the actual and the Board-approved were almost identical. 


MR. LADANYI:  No, it is blank but I think -- I believe when this was filed maybe it wasn't available yet.  But I am not sure the reason why it's blank here. 


MR. SHEPHERD:  Is your annual report.  I will just take you to page 1 of that same exhibit.  


MR. LADANYI:  Yes.  I'm actually not the witness for this so I am trying my best here.  If you really have a lot of questions, you might be better to take it up with another panel.  I will try my best.  


MR. SHEPHERD:  Okay.  Take a look at page 1 of that exhibit.  


MR. LADANYI:  Yes I see it. 


MR. SHEPHERD:  About halfway down you see degree day deficiency actual 3,750 for 2005, and forecast 3,747.  


So that is why there is zeros on the other page; right?  


MR. LADANYI:  They are close to each other, I see that, yes.  They're within the -- a few degree days. 


MR. SHEPHERD:  Just let me take you back to page 3 for a second.  Sorry, Ms. Ing.  


You see there, there's a paragraph that describes what normal weather is.  And you will see that it says that this information that you are providing in the annual report is only for Toronto.  Do you see that?  


MR. LADANYI:  I see that, yes.  


MR. SHEPHERD:  And that's simply because Toronto is 80 percent.  And so although there is a 20 percent impact it's not enough to worry about in terms of financial materiality.  Is that correct?  


MR. LADANYI:  I would say probably.  


MR. SHEPHERD:  You also say, if you take a look at that paragraph, the big paragraph right at the bottom of your screen there, now it's in the middle of the screen.  You will see it says:   

"Moreover, normal weather may not be comparable from year to year given that the forecasting model uses the degree day deficiency from the most recent year to determine the estimate."


I didn't understand that.  So I wonder if you could or maybe Mr. Denomy could explain what that means.  


MR. LADANYI:  I think what it means is they're different degree days each year.  It is not that they're the same degree days.  


MR. SHEPHERD:  So all you're saying is normal weather means your forecast?  And your forecast isn't the same each year?  


MR. LADANYI:  That's right.  They're not on an absolutely equivalent basis.  I think that is what it is telling us.  It is indicating to the rears of the financial statements not to assume it is the same each year. 


MR. SHEPHERD:  That's what happens when you get lawyers writing annual reports.  You use a paragraph to say something you can say in two words.  


Still on page 3 you see at the top of the page there, in those three years, set aside the 15-month period which is obviously, would obviously confuse you.  In 2003 through 2005, the company earned an extra $70.4 million due to weather fluctuations; right?  


MR. LADANYI:  I think we are getting into an area that would be best be taken up with Mr. Boyle who is coming up on a panel next week in this area.  


I will just leave it for him.  I think it is related to some of the things he's going to be discussing.  


MR. SHEPHERD:  I'm not asking anything about equity thickness.  I am asking about -- 


MR. LADANYI:  But it's about earnings and I don't want to go too much into an area that really Mr. Boyle will be testifying on.  


MR. STEVENS:  If I may.  I think Mr. Ladanyi did fairly indicate early on that that wasn't his document and that he wasn't part of the preparation of this document.  


He's agreeing with you to the things that he is reading on the page but I am not sure that he is able to give any weight to what he's saying since he wasn't part of this document.  Mr. Boyle's panel will be speaking, as I understand it, to some of the earnings impacts over the last number of years and I am sure that they would be prepared to answer any questions in this line and then those answers would be available to you at the end of this case.  


MR. SHEPHERD:  So sorry, I should ask my degree days questions of the equity thickness panel?  


MR. STEVENS:  As I heard it, Mr. Shepherd, you were asking earnings questions.  You were totalling up the earnings impact over the last number of years.  It wasn't degree day questions at all.  


MR. SHEPHERD:  Mr. Chairman, I guess my problem is that, that the essence of the company's argument is if you don't get the forecasts right, you under-earn, and that's not fair to the company.  


So that is central to what this panel is giving evidence on.  I just want to get some numbers on the record. 


MR. KAISER:  I think, Mr. Shepherd, everyone understands the concept that if you over-forecast, it won't recover the amount of money that they're required to.  But how it translates into the financial statements it seems to me is probably best reserved for the witness that is going to deal with the financial statements.  This witness, while he understands degree days and how these forecasts are calculated, may not understand how they factor into the actual numbers, specific numbers. 


MR. SHEPHERD:  I wonder if I can just ask one more question to see whether I’m barking up the wrong tree.  Mr. Ladanyi, what is your title? 


MR. LADANYI:  Manager of budgets and planning.  


MR. SHEPHERD:  That suggests to me that Mr. Ladanyi is exactly the person to ask about questions relating to financial performance.  


MR. KAISER:  What is your involvement in preparing the company's financial statements?  


MR. LADANYI:  I don't prepare them.  I have an opportunity to review them for accuracy, but I do not prepare them.  


MR. KAISER:  When you review them for accuracy, do you look at the subject matter that Mr. Shepherd is enquiring into, as to whether the financial statements accurately reflect the weather forecasts?  


MR. LADANYI:  To the best of my abilities, I would say.  But I wouldn't say that I am an expert on financial statements -- on preparation of financial statements, in any way.  


I will attempt to answer Mr. Shepherd's questions, but I don't want to make some general statements about earnings, which really is best dealt with by another panel.  


MR. KAISER:  All right.  What was your question, Mr. Shepherd?  


MR. SHEPHERD:  I just have a couple of more questions, then.  


2006 was one of the lowest degree day years in your history; right?  


MR. LADANYI:  I believe it was, yes.  I think we might have been -- 1998 was lower.  


MR. SHEPHERD:  That's the only one that -- 


MR. LADANYI:  Yes, 1998 was a little bit lower than 2006.  


MR. SHEPHERD:  Would you accept, subject to check, that your under-earnings, as reported in your financial statements yesterday, released yesterday, due to weather, were $36.9 million. 


MR. LADANYI:  I will accept that, subject to check. 


MR. SHEPHERD:  If that is correct, then for the last four years your net over-earnings for weather would be $33.5 million. 


MR. LADANYI:  I will accept it subject to check, but I think you should keep in mind what you see for 2004 and 2003 and, for that matter, 2005 are all settled numbers.  So we are not disputing anything about settled numbers.  


All we are trying to do here is present evidence on the best methodology to be used for forecasting.  And what we are saying is that the de Bever methodology doesn't work very well.  And we would like a better methodology.  One that works better.  But we are not making any claims about settled numbers.  Settled numbers are what they are and they were negotiated with the intervenors to reach a settlement.  They are not reflective of the de Bever numbers.  


MR. SHEPHERD:  Let me just ask you one other question about that. 


MR. KAISER:  Before you go on.  The settled numbers, I take it, were always less than the de Bever numbers?  


MR. LADANYI:  They were, I believe, always a little bit less than the de Bever numbers. 


MR. SHEPHERD:  It is true they were always higher than the company-proposed numbers. 


MR. LADANYI:  They were higher than the company-proposed numbers.  It was a negotiated number.  


MR. SHEPHERD:  Between the two?  


MR. LADANYI:  That's right.  


MR. SHEPHERD:  Wonderful.  Let me just ask you one other question in this area before I move on.  You said that in 2004 the degree days, were the same as 2003 because you didn't have a cost of service application; right?  


MR. LADANYI:  That's right.  We took 2003 rates and we escalated them for 2004 using a formula, as you are well aware. 


MR. SHEPHERD:  That is always true, isn't it, in any year you don't have cost of service implicitly built into your revenue structure, is the previous approved degree day number?  


MR. LADANYI:  Let's say if you were to operate the way many utilities operate in the United States, where they don't have annual cost of service rate cases, you might be aware that most places in the United States they have -- the rate cases don't come as frequently as each year as they do in Ontario.  Then the rates in place would be based really on whatever was the degree days that were in place at the time when those rates were in effect.  Sometimes they might be locked in for several years.  


MR. SHEPHERD:  So for example you're going into incentive regulation, everyone expects, over the next five years or whatever if is.  Then whatever the degree days are that are fixed in place this year, all other things being equal, would be the same for five or six years; right? 


MR. LADANYI:  Well, the methodology under discussion, it is still under discussion, and there are really two methods being looked at.  One is the price cap or what we call a rate cap, and that that methodology, the way we understand it and the way it has been described in the Board staff paper, essentially you are correct, the degree days would be locked in for whatever four or five years.  


The alternative methodology is the revenue cap methodology and the revenue cap is more similar to cost of service.  Under revenue cap there will be an annual forecast of revenues.  So, therefore, degree days would be ‑‑ would change each year under revenue cap.


MR. SHEPHERD:  Now, the company's actually proposed in the IR process ‑‑ tell me what ‑‑ I think you are familiar with this.  Tell me if you are not.  But I think the company has proposed that there be an adjustment within the price cap mechanism to capture the downward trend in weather; is that right?  If you are not aware of it, you can ‑‑


MR. LADANYI:  We are discussing it, but I think our submission, in fact, has not been filed with the Board yet.  We are still working on it.  I believe we are discussing some of these things, but our official submission is still in preparation.  I'm not sure when it is going to be filed.


MR. SHEPHERD:  I was actually going from the last submissions.  It is iterative.


Okay, Mr. Chairman, I am moving on to a new area, if you think this was a good time for a break.


MR. KAISER:  Thank you, Mr. Shepherd.  We will take 15 minutes.


‑‑‑ Recess taken at 10:50 a.m.

--- Upon resuming at 11:20 a.m. 


MR. KAISER:  Please be seated.  Mr. Shepherd.  


MR. SHEPHERD:  Thank you, Mr. Chairman.  


Witnesses, we agree, I think, that in the short term, weather is highly unpredictable.  You have a comment -- I wrote it down somewhere.  You said that weather has a high degree of randomness and as a result you can't really predict it in the short term; is that right?  


MR. DENOMY:  Well, you can predict it in the short term.  


MR. SHEPHERD:  Let me just find that quote then, sorry.  It was a set-up question.  


Can you turn to C2, T4, S1, page 11.  Sorry, I lied.  Page 13.  What it says here, in paragraph 26, is:  

"There's a high degree of randomness in weather, so over a short, say, five-year or, in the extreme, one-year period, the potential exists for the random component to overwhelm any legitimate advantage that any one method holds over another in the long run."  


Is that right? 


MR. DENOMY:  Yes.  That's what we said.  I think I misunderstood your question.  


You can predict anything in the short term, but what matters is how well on average you can predict that variable over a longer term.  


MR. SHEPHERD:  Well, I guess the point is that you're not coming to the Board saying that, 20-year trend predicts 2007 better than de Bever.  Right?  


MR. DENOMY:  I can't say that, because I don't know what 2007 is.  


MR. SHEPHERD:  Well, in fact, because of the high degree of randomness, what you know is that the prediction of 2007, whether it is de Bever or 20-year trend or anything else, doesn't have a high probability of being right.  


MR. DENOMY:  That's correct.  


MR. SHEPHERD:  And would it be fair to say that the impact of your choice of methodology on a single year forecast is almost zero?  


The likelihood that one methodology is better than another over a one-year forecast is very low?  


MR. DENOMY:  Any one method in any one year is going to predict more accurately than any of the others?  


MR. SHEPHERD:  I thought this was like probability math, it is pretty straightforward. 


MR. LADANYI:  Maybe I can help here a bit.  You see, what you usually look at this those situations you look at past performance, and you look at how different methodologies would have predicted the weather in past years.  That is all we have to work with.  We don't know what 2007 will exactly be like.  But if a certain methodology seems to work well, looking at the past, and in this case we looked from 1990 on, then that methodology is likely to be better in the future.  That's the conclusion that one would have.  


MR. SHEPHERD:  But if we look at, for example, we look at Mr. -- at the Chairman's Exhibit K4.4, you see it doesn't matter which of these methods you would have used.  Pretty well every year they would be wrong, and usually wrong big time.  The difference is that over a longer period of time, one is more likely to be right on average over a longer period of time.  Right?  


MR. DENOMY:  That's right.  


MR. SHEPHERD:  In fact, it is true, isn't it, that weather in the very long-term should be quite predictable because if you have a very long data series, the factors that affect weather are generally quite consistent over time.  


MR. LADANYI:  I would say that is debatable.  I think one way to look at it, there appears to be a warming trend.  I think if you look at -- if I can turn you to Exhibit C2, tab 4, schedule 1, page 20, you can see there that there is -- there appears to be, in the graph, it is quite clear there is a warming trend in effect.  That's why a trend methodology does seem to be something that would be appropriate when you look into the long-term here, because there appears to be a long term trend that is in effect.  


MR. SHEPHERD:  That is my point, Mr. Ladanyi, that if you have a long data set and you are predicting a long way into the future, then you have a high confidence that you will be right over the longer term as opposed to the shorter term, because the factors that will affect either your averages or your trends are fairly consistent over the long period of time.  Right?  


It could be a trend.  I'm not saying it is a flat line.  I'm just saying that the predictability is high over the longer term; right?


MR. LADANYI:  I would say, I mean it depends how you define longer term.  If you look at the very long term, in the earth’s existence there were cycles of warming periods and cooling periods.  But we are not operating in, let's say, millennia.  We are really operating within a few decades in southern Ontario and what we see here is a warming trend, that there is --  it's not debatable.  It is a fact of life.  


MR. SHEPHERD:  You talked on Tuesday about confidence bands with Mr. DeRose.  Do you recall that?  


If you do a weather report, the weather forecast for next year, your confidence band is pretty broad because of this randomness factor; right?  Within a 20 or 25 percent variance, you're not all that sure it's going to be within that broad range, right, no matter what methodology you use?  


MR. DENOMY:  Yes.  


MR. SHEPHERD:  On the other hand, if you were predicting what the total degree days were for the next 20-years, you have a much narrower confidence band because you would know that that randomness would start to even out and trends would start to kick in.  


MR. DENOMY:  No.  Your confidence band would increase the longer the period of time that you are trying to forecast.  


MR. SHEPHERD:  Okay.  Well, so I don't think that is right and I'm going to see if we can demonstrate that.  


Can you turn to C2, tab 4, schedule 1 on page 23.  Do you have that?  


MR. DENOMY:  Yes.  


MR. SHEPHERD:  Okay.  It's on the screen, okay.  So this is -- I'm not used to looking at the screen.  This middle column here, column 3 that, is your actual gas supply degree days for each year over a 36-year period; right?  


MR. DENOMY:  Yes.  


MR. SHEPHERD:  Will you accept, subject to check, that the average over those 36 years was 3,967 degree days?  


MR. DENOMY:  Subject to check, yes.  


MR. SHEPHERD:  That's -- by the way, that's about 10 percent higher than the forecast you are proposing for this year.  Give or take?  


MR. DENOMY:  Okay.  


MR. SHEPHERD:  Will you accept that the highest during that period was 4,434 degree days and the lowest was 3,322 degree days?  


MR. DENOMY:  Yes.  


MR. SHEPHERD:  And will you accept subject to check that this represents a variance around the mean of 28 percent?  


MR. DENOMY:  Yes.  


MR. SHEPHERD:  Okay.  So what that tells you is that on a one-year basis, your volatility, your variability has about a 28 percent range.  Now, in a longer data set it might be wider, right, but it gives you some indication of orders of magnitude at least.  Right?  


MR. DENOMY:  Yes.  


MR. SHEPHERD:  Okay.  Now, would you accept, subject to check, that if you were to look at consecutive periods of 20-years in this data set -- so you add up 20-years, any consecutive 20-year period -- and average those, and calculate your same variance from highest to lowest, would you accept, subject to check, that that range is 7 percent, not 28 percent?  


MR. DENOMY:  Subject to check, sure.  I haven't seen the calculations.  I haven't done them. 


MR. SHEPHERD:  The reason for that is in a longer data set, when you have a random factor -- or a variable that has randomness in it, then if you have a longer data set, the randomness will tend to cancel itself out and the prediction of the longer data set will be narrower.  Isn't that correct?  In fact, let me put it another way.  If you did one-year averages and variability, and two-year, three‑year, four-year, all the way up to 20 years, you see a pattern where it would go from 28 percent bandwidth down to 7 percent.  It would be pretty regular, wouldn't it?


MR. DENOMY:  Are you talking about ‑‑


MR. SHEPHERD:  I did the spreadsheet last night, so I know.


MR. DENOMY:  Are you talking about periodicity?


MR. SHEPHERD:  No, I am talking about the bandwidth between highest and lowest.


MR. DENOMY:  I think it would shrink, yes.


MR. SHEPHERD:  It would shrink; right?  Okay.


 MR. LADANYI:  Actually, I don't agree with that, Mr. Shepherd.  See, just think of it logically.  Suppose you have a 100-year span.  The likelihood of having extreme numbers within the 100-year span is much greater than within the 10‑year span.  Don't you agree with that?  That seems quite reasonable.


MR. SHEPHERD:  Absolutely.  But if you are taking totals of particular consecutive periods, those extremes are muted by the randomness in the data, correct, with the result that ‑‑ and if you do the math on your own numbers, you're going to see this ‑‑ with the result that the pattern Mr. Denomy talks about, the shrinking, based on what the data set is, is consistent.


MR. LADANYI:  So you are discussing some hypothetical 20‑year moving average, is what you are talking about, really?


MR. SHEPHERD:  You could use that, if you like.  A 20-year moving average would be one way --


MR. LADANYI:  Not the trend, but the moving average.  All right.


MR. SHEPHERD:  I am going to come back to this in a second, but you agreed, I think, a few minutes ago that if we set a number for this year, then, in an IR period, that number could be a six-year number, in fact; right?


MR. LADANYI:  It could be six-year number.  It is not clear at this point in time whether it will be.


MR. SHEPHERD:  Okay.  You haven't done any forecasting of the six-year number that starts in 2007 and goes to 2012, have you?


MR. DENOMY:  No.


MR. SHEPHERD:  Okay.  Let me clean up one thing that was a question I was trying to understand when I was reading this stuff last night.  


MR. VLAHOS:  Mr. Shepherd, a six-year number, that is six years from today or every year for six years?


MR. SHEPHERD:  You could, for example - I am going to come to this in a little while ‑‑


MR. VLAHOS:  All right, that's fine.


MR. SHEPHERD:  No, since you raised it, I will give you the elevator pitch, which is we're going to have a number that applies for six years, a total number of degree days for the next six years.  So you could take all of the last 30 six-year numbers, see if there is a trend in those numbers and project that to the next six years.  


The fact that you use a year is just a matter of convention.  You could use six-year periods instead.  The only reason you need to do weather forecasting in the rate‑setting context is to get volumes; right?


MR. LADANYI:  That's right.


MR. SHEPHERD:  But you forecast volumes separately.  You feed the degree day number into it, and then you do a separate forecast of volumes; right?


MR. LADANYI:  Eventually, it is one of the inputs in the volume forecast.  The other input obviously is going to be average use per customer, customer growth and other effects.


MR. SHEPHERD:  Okay.  So why don't you just forecast volumes directly?  Why do you go at it through degree days?  Why don't you just say, We have a data set of volumes or volumes per customer, let's do our statistical analysis on the volume data and not worry about whether weather was the reason for it or something else was the reason for it?  Why don't you do that?


MR. LADANYI:  Well, this is a weather-sensitive business.  So it varies greatly from year to year on the amount ‑‑ units of gas that the customers will consume.  Obviously, in a cold winter, they are going to use more units of gas than in a warm winter.  So that would have a big impact on the total revenue recovery.  That is what you are discussing here.


MR. SHEPHERD:  But if you used volumes as your data set instead of weather, then you would be capturing all of the weather impacts anyway, wouldn't you?  You would just be capturing it in context.


MR. LADANYI:  But it would be commingled with other factors.  I think tradition at the OEB is to keep weather impact separate from the average use impacts from customer growth impacts.  Otherwise, all of these numbers would be commingled and it would be hard to understand what the data is telling us.  


But, yes, you could theoretically just keep it all in one big lump and do it from year to year.  That could be done, as well.


MR. SHEPHERD:  You don't get any more accuracy by disaggregating?


MR. LADANYI:  I think you do, because you are going to remove these other effects.  That's the whole idea.  You remove other effects that are causing volumes to change.  


MR. SHEPHERD:  You have to bring them back together eventually.


MR. LADANYI:  In total, of course, but then we are discussing the analysis here of one particular factor.  If you have a lot of other extraneous impacts on the total number, you obviously want to remove them and look at them separately.  That's what you do when -- you look at average use separately.  You look at customer growth separately.  You look at contract volume separately.


MR. SHEPHERD:  You proposed a trend methodology.  It is true, isn't it, that whether you use a moving average or a trend -- regression trend methodology, they both reflect trends in past data, don't they?


MR. LADANYI:  I would say that depending on what sort of a moving average you use.  The shorter the moving average, obviously it would be more reflective of a trend, if there is a trend developing.  If you use a very long moving average, like a 30‑year moving average, it is not going to really reflect the trend, except after many, many years.  


The difficulty of this business we're in, we're trying to set rates for the coming year.  It might well be that over 150 years that, you know, the 30‑year moving average will correctly reflect the trend, but it is not going to help us for the test year for 2007.


What we are seeing here, as I pointed out when I took everybody to Exhibit C2, tab 4, schedule 1, page 20 is really a clear warming trend in Ontario, where we see a decline in degree days that we are experiencing in our franchise area.  I mean, it is a fact of life.  


So we want something that would reasonably reflect what is, in fact, being experienced.  A 30‑year moving average is not going to reflect that, except probably after, you know, in many, many years.  And the difficulty we have is we're not talking about something many years from now.  We are talking about 2007.


MR. SHEPHERD:  And, in fact, averaging methods, they reflect the trend, but they mute it.  So if you have a trend, that trend has a direction and a slope; right?  The trend line has a direction and a slope?


MR. LADANYI:  Yes.


MR. SHEPHERD:  This is trigonometry, I think.  I think I remember it.  Is it?


MR. VLAHOS:  A directional slope.


MR. SHEPHERD:  Yes.  This is trigonometry.  Well, anyway, it doesn't matter.


If you use a moving average, that tends to make the slope less.  It still reflects the trend, but it has a lesser slope; right?


MR. LADANYI:  There is no real slope in the moving average.  The moving average is horizontal, but it changes from year to year.  So a trend line would be -- essentially, you have an intercept and a slope in the trend line regression model.  In the moving average, it is essentially a flat line that goes up and down from year to year.


MR. KAISER:  Mr. Ladanyi, can I just jump in at this point, since we are on trend lines?


If you go to the three graphs that you have just been discussing with Mr. Shepherd, these are the ones that have the trend lines at C2, tab 4, schedule 1, pages 20, 21 and 22. 


Just looking at these, you talk about the trend lines and dealing with this proposition that the weather is getting warmer.  In Toronto -- and all of these graphs for the three different regions run over the period 1965 to 2007.  


In Toronto, it is dropping 800 degree days in that time period, from 4,400 to 3,600.  We go then to Ottawa; it is half of that.  It drops 400 degree days over the same time period.  We go to Niagara and it is half of that again.  It drops 200 degree days.


What -- since we have this proposition that the world is getting warmer, which most of us read every morning in our newspaper, and we are trying to develop a model, how do we take account of the fact that the trend lines are dramatically different for these three different regions?  


Do we just ignore 20 percent of the market, even though the degree of warming, if I can call it that, in Ottawa is half of Toronto and in Niagara it is a quarter of Toronto?


MR. LADANYI:  Ottawa represents 12 percent of our volumes and Niagara represents 8 percent of the volumes.


We are not ignoring it.  We are just trying to find a best fit.  Rather than having three different models, we are trying to fit the data, as I explained yesterday, that would have the best fit to the larger ‑‑ largest population of data that we have, which is the Greater Toronto Area or central region, if you like.


MR. KAISER:  I understand that is your position.  I understand why that is your position; 80 percent of the customers in Toronto.  But this whole drive for a better model, as I understood it, at the high level, is driven by your admonition that, Listen, guys, the world is changing.  Weather is getting warmer, and that wasn't the case when old Leo de Bever was looking at this back in 1990 or whenever it was.


MR. LADANYI:  That's right.


MR. KAISER:  But do we not need to, if we are going to get into this, take account of the fact that in your market area, you've got distinctly different weather regions and the degree to which the weather is getting warmer is dramatically different in each of those three regions?  Would you at least agree with that proposition?  Am I reading these charts right? 


MR. LADANYI:  You are reading them right and I do agree with that proposition.  What I am trying to say is, if for example one of the other regions is -- would be showing an increase in degree days - i.e., there was for example getting colder in the Ottawa region and is getting warmer in Toronto - we would be concerned because we would then say there is dramatically different behaviour in our eastern region.  But what we are saying is the same kind of warming period in Ottawa although not as fast as it is occurring in Toronto.  I think Ottawa geographically is subject to different weather patterns.  


I think this also illustrates another point we were trying to make.  Really we are a different franchise than, for example, Union Gas is or some gas utilities would be in the United States.  So the methodology has to be applied really to our franchise, to our geographic location in Ontario or, if you like, on the globe.  Again, it has to be applied as much as possible to the data that we have.  And we have tried our best to fit it to the largest population of that data.  There is a concern, for sure, but we feel our concern is not an overwhelming one.  We believe that the Board shouldn't be concerned that we are not particularly reflecting Niagara as well as we can, because Niagara is only 8 percent of our total volume. 


MR. KAISER:  Okay, thank you. 


MR. SHEPHERD:  Mr. Chairman, once more, you have anticipated where I was going with something, and I'm not sure you will be thrilled with the notion that we think alike, but we apparently do.  I am going to come back to that in just one second, but let me just make sure I understand.  It's true that if you use a regression trend, then it's captive to your data set.  If you have a 10-year data set, then your trend analysis will only capture trends that manifest themselves within that 10-year sub data; right? 


MR. DENOMY:  Yes. 


MR. SHEPHERD:  Similarly 20 years or 30 years.


MR. DENOMY:  Yes. 


MR. SHEPHERD:  And so if you have an underlying cause that is, let's say it is a 50-year trend, then you won't necessarily capture that in a 20-year trend analysis, will you?  You might, but you wouldn't necessarily. 


MR. DENOMY:  No, you wouldn't.  The trend for the 50 years could be different than the trend for the 20 years. 


MR. SHEPHERD:  In fact, if I understand Leo de Bever -- sorry, Dr. de Bever's methodology, didn't he start by saying let's let the data identify what the relevant time period is.


MR. DENOMY:  Yes. 


MR. SHEPHERD:  Then once we have identified what the relevant time period is, what the statistically valid time period is, then we will calculate our forecasts.  That's correct? 


MR. DENOMY:  Yes. 


MR. SHEPHERD:  So that seems pretty intuitive to me.  So maybe you could just -- without looking at the numbers, just talk conceptually.  What's wrong with that? 


MR. DENOMY:  Well, I think the point here -- and I am going to come back to it, is we are concerned with getting an accurate forecast of degree days and we have shown that despite Dr. de Bever's best efforts to try to determine the period over which you estimate your regression, according to his analysis, is not appropriate.  His method isn't appropriate.  It is not producing an accurate forecasts of degree day. 


MR. SHEPHERD:  If is not that it is conceptually wrong.  In fact, you agree, conceptually, it’s not a bad idea.


MR. DENOMY:  Conceptually it’s not a bad idea, but when ranked against the 20-year trend, it is not producing forecasts and degree days in terms of accuracy, symmetry and stability. 


MR. SHEPHERD:  Is that generally true that you would say -- I'm not a statistician or economist, so you are educating me, that it is modeled performance which is the primary test.  It is not whether the model is correctly designed.  It is whether it performs as well. 


MR. DENOMY:  In the case of degree days, yes, we want a model that is going to perform well.


MR. SHEPHERD:  For example, this is sort of unfair, but if the Naive method produced the best results over the long-term, you would say let's go with it; right?  Even though you agree it's overly simplistic. 


MR. LADANYI:  I would say yes.  If it can be proven that the Naive method was the best method to have used since 1990, I would say let's go with Naive.  But if you look at the de Bever method which is the one under discussion, a good way to look at de Bever is if you turn to C2, tab 4, schedule 1, Page 5.


MR. SHEPHERD:  Yes. 


MR. LADANYI:  And if you look at table 4.  The de Bever method was used from 1990 to 2002.  And the numbers after 2002 are all settled numbers.  I also did some mathematics last night, too.  And if you add up the variance for those years, so column 4, from 1990 to 2004, you actually have an over-forecast of 2098 degree days.  You also have 9 of those 13 years, those years where de Bever was used as being over-forecast years.  And the average annual over-forecast, i.e., de Bever predicted higher number of degree days is 161.4.  So one sees in that there is a bias to Leo de Bever's methodology.  Now, the fact that he might have used some very interesting statistical methods when he designed the model in the 1989 or 1990 is very fine.  But in practice, his model appears to be over-forecasting, that's what we're saying, and something better is required. 


MR. SHEPHERD:  In fact if you used de Bever for 2003 through 2006, and take it back another 10-years prior to 1990, if you did that, what you would find is it was pretty accurate, wouldn't you?  Your total variance over that longer period of time would actually be almost nothing, wouldn't it? 


MR. LADANYI:  Well, I think Dr. de Bever, looking at his data, I believe he took data from 1949 on.  So he took a very long period.  And in that period he captured some really cold years in the late '50s, early '60s, in the early '70s and that affected this data.  We are not seeing those cold years in the last 15 years.  We have not seen those cold years.  If there is a cold cycle coming, there is no indication of it.  Yet his data, in his model is very affected by the cold cycle that he found in the data when he looked at, all the way back to 1949. 


MR. SHEPHERD:  Well, it's interesting you say that, because of course he used a very long data set, 40-odd years or something.


MR. LADANYI:  Yes, he did.


MR. SHEPHERD:  You're proposing to use a 20-year data set which has some of the warmest years on record.  So isn't your model then going to be skewed by choosing a period with some of the warmest years on record? 


MR. LADANYI:  Well, I think we could all agree that we're in -- we appear to be in a different cycle.  I happened to read The Globe and Mail yesterday and I brought it here with me, and it says in The Globe and Mail on the first page, it is not evidence but what is out there in play, it says: 

"In 11 of the past 12 years rank amongst the warmest since humans began taking accurate temperature measurements since the 1850s." 


So there is a trend in effect.  Mr. Leo de Bever or Dr. Leo de Bever's model does not reflect the new trend that we appear to be experiencing here. 


MR. SHEPHERD:  So some of the coldest years in the 20th century were in the 50s.  Some of the warmest years were in the '80s and '90s; right?  That's true? 


MR. LADANYI:  I believe some of the coldest were, in fact, in the '70s. 


MR. SHEPHERD:  Okay.  So what you are saying is that the fact that the '80s and '90s had warmer years shows a trend.  I guess that means in the '70s there was a cold trend; right? 


MR. LADANYI:  It would well seem that way.  What we are trying to do is we are predicting what 2007 will be like.  The fact there might be a cooling trend coming in the 2022 really is kind of irrelevant to us now.  We really want to know what the weather is most likely to be in 2007. 


MR. SHEPHERD:  Well, no, Mr. Ladanyi, I think we already agreed you have no idea what the weather is going to be in 2007 and it doesn't matter what model you choose, you're not going to be any more accurate.  In fact, I think we also agreed that the number you are going to use is probably going to be a six-year number.  So you are not trying to predict what the weather is going to be in 2007, are you?


MR. LADANYI:  Most definitely we are.  We are trying to set rates for 2007.  By the way we also know January, that we just finished, has been a relatively warm January.  Even though we had some cold days towards the end of January, the first two weeks of January were unusually warm.  So the rest of the year would have to be much colder to offset that. 


MR. SHEPHERD:  Can you turn to C2, tab 4, schedule 1, page 20, which we were talking about a few minutes ago.  That is that chart that the Chairman was referring to.


The way a trend model works is you take the data and you fit a straight line down the middle of the data, in effect; right?  I mean, in layman's terms, that's what you're doing?


MR. DENOMY:  Yes.


MR. SHEPHERD:  You use statistical methods of doing that, but that's what you're doing.  Then you take whatever the slope of that line is and you just project it out into the future to get what the next year and the next year and the next year are going to be; right?


MR. DENOMY:  Yes.


MR. SHEPHERD:  Okay.  And implicit in this is the idea that there is something happening in the underlying data that is causing a real world truth to take place.  This is not just math; right?  You are trying to capture something that is happening in the real world?


MR. DENOMY:  Yes.


MR. SHEPHERD:  So there is some cause that is making this happen, or maybe a multiple of causes that's making this happen?


MR. DENOMY:  Yes.


MR. SHEPHERD:  You haven't tried to identify what that was, so ‑‑


MR. DENOMY:  No.  I'm not a climatologist.


MR. SHEPHERD:  Mr. Ladanyi, in showing us the newspaper, you weren't suggesting that this is about global warming?


MR. LADANYI:  It may well be about global warming.  All I'm saying is that it is irrefutable evidence that it is getting warmer in Ontario and also around the world.  Whether this is global warming, I can't comment on that.  I'm just telling you what is general understanding.


MR. SHEPHERD:  Wonderful.  Now, this figure 4 on page 20, is that your 20‑year line or is that a 43-year line, because it looks like it is down the middle of 43 years of data?  Can you tell me which it is?


MR. DENOMY:  It's the 20‑year trend line, just extended back.  You can see that the forecast for 2007 lies on that line, if you extend it out.  This is just a 20‑year trend extended back into 1965.


MR. SHEPHERD:  So the 20‑year trend line starts in '85; right?


MR. DENOMY:  Yes.


MR. SHEPHERD:  So that line, back from '85 to ‑‑


MR. DENOMY:  I'm sorry, Mr. Shepherd, '86 to 2005.


MR. SHEPHERD:  So for the years '85 back to '65, that line is not in fact fitted to the data, is it?


MR. DENOMY:  No.


MR. SHEPHERD:  If you did the line and fit it to the full data set, it wouldn't have the same slope, would it?


MR. DENOMY:  It would have a slightly different slope, yes.


MR. SHEPHERD:  Exactly.  And the same is true if you look at figure 5 and figure 6 on the next pages?


MR. DENOMY:  Yes.


MR. SHEPHERD:  Right.  In fact, I put it to you that the line on figure 6 - this is the Niagara data - because of those very cold years in '76 through it looks like '82, would actually be quite a significant difference of slope, wouldn't it, just eyeballing it?


MR. DENOMY:  I would say yes.  I would have to...

     MR. SHEPHERD:  You can't tell until you do the math, I know, but directionally that is probably right.


Okay.  You haven't done the longer-term trend lines?


MR. DENOMY:  No.


MR. SHEPHERD:  So you were asked the other day:  Where is 30‑year trends in your data?  You just didn't do that; right?


MR. DENOMY:  No.


MR. SHEPHERD:  Is that right?


MR. DENOMY:  We didn't do it.


MR. SHEPHERD:  Why not?


MR. DENOMY:  Well, we looked at methods that have been used by other utilities or proposed by other utilities and simply focussed on them.


MR. SHEPHERD:  Okay.  So back to figure 4 on page 20.  So if I project that line out into the future, if your trend is right, then I should be able to project it well into the future, right, not just one year, because one year is in fact unpredictable?  I should be able to project it ten years. 


If there is an underlying trend of the data, it should continue; right?


MR. DENOMY:  Well, that depends.  I mean, once we get data for 2006 or 2007, that 20‑year trend line is going to be updated with the new data.  You are going to add a new year of data, drop the other one, and the trend could shift.  It could be positive into the future.


MR. SHEPHERD:  Well, then it's not capturing an underlying truth in the real world, is it, if that's the case.  Is it just about the numbers moving around?


MR. LADANYI:  No, it isn't.  It is capturing the best available data.  Once we have the 2007 actuals, the slope of the curve, taking 2007 into account, will be slightly different, and that once we know 2008, the slope will be different again.  So ‑‑ that's how the trend line works.


MR. SHEPHERD:  If you have a trend that has ‑‑ this looks to me like about a 16 percent slope.  I think that is what it works out to be.  I could be wrong. 


MR. DENOMY:  Seventeen degree days per year. 


MR. SHEPHERD:  Yes.  Anyway, I don't know how to describe the slope.  It's a fairly steep slope for this sort of data.


If what you are doing with that is you're capturing some underlying truth, and then next year you do another calculation and it is a different slope, does that mean that underlying truth has changed?  It's getting less warm now?  The trend is now less warming?


MR. LADANYI:  The trend will be what it is.  The idea of having a slope is you take the most ‑‑ you take the data, the best data you have, so we will know another year.  That is how the trend line method works.  You always take the best data, the most recent data.  You include it, and if it is a 20‑year trend, you are going to drop one of the old years and insert a new year.  That is the whole purpose of a trend, to show the trend that is currently happening.


MR. SHEPHERD:  If the line you have here shows a real trend in the real world, then, all other things being equal, that should continue out into the future, right, until some other factor changes it?


MR. LADANYI:  I'm missing what you are trying to say.  We're trying to explain to you how the model works.  You're saying that you have some kind of a suggestion that this will be somehow fixed in time.  It will not be fixed.  It changes from year to year as you do the calculation.  It is never fixed in time.


MR. SHEPHERD:  I understand how you do the modelling.  That is not what I'm asking.  I am asking ‑- you are describing to describe the real world; right?  The model tries to describe the real world.  It is not just math.


MR. LADANYI:  Correct.  And the real world is not static.  The real world changes.  So the model adjusts itself to describe how the real world has changed over the last year.


MR. SHEPHERD:  So the warming trend out there in the real world is changing year to year?


MR. LADANYI:  Right.


MR. SHEPHERD:  Is that right?


MR. LADANYI:  But suppose -- let me give you it to you conversely.  Suppose there is a cooling trend in a few years.  The curve will start pointing towards cold.  It is currently pointing towards warm.  It will, over time, start pointing towards cold.  So it captures what is going on.  


If there are cycles that are occurring here and this warming trend is going to be followed in some future date by a cooling trend, the trend methodology will capture it.  In fact, it will capture it better than a 30‑year average would or that de Bever would capture.


MR. SHEPHERD:  In fact, that is a good example, because if there is a cooling trend, this methodology will almost certainly be wrong for a few years, because it will still show there is a warming trend, whereas in fact the near-term trend is cooling; right?


MR. LADANYI:  Not quite right.  You see, what it will show is, for example, if there is one warm year, one cold year, it will not affect the slope of the curve a lot.  Suppose there is a consecutive, let's say, three or four or five cold years, the curve will really point in a very different direction, then.


MR. SHEPHERD:  It will still point down, because it is 20 years; right?


MR. LADANYI:  Well, no, because it will be very much swayed by how many of those and how cold those years were.


Conversely, now, if it goes the other way, it will point the other way.  That is why this is a good methodology, because it is quite responsive to changes in the weather; whereas some of the other methodologies that have been approved in the past - for example, like the 30‑year moving average - are not very responsive to the changing weather patterns.


MR. SHEPHERD:  It's a fair bit of work to do analysis of 30‑year trends, as well; right?  It's not something you can do in ten minutes?


MR. DENOMY:  No, no.


MR. SHEPHERD:  You have to take the data set.  You have to do your regression analysis.  It's a day's work to get it right?


MR. DENOMY:  Yes.


MR. SHEPHERD:  Okay.  I won't ask you to do that.


Given the data that you have, I take it that it's fair to conclude that a 30‑year trend would have a slope with a shallower ‑‑ a line with a shallower slope.


MR. DENOMY:  It would show less of a decline.


MR. SHEPHERD:  Okay.  Do you know whether 40 years would be even shallower, or not?


MR. DENOMY:  I can't comment on that, Mr. Shepherd.  I would have to do those calculations.


MR. SHEPHERD:  You don't know.  Mr. Chairman, I am moving to a new area.  I have about 45 minutes to an hour left, and I am happy to do that after lunch, if that is acceptable to you.


MR. KAISER:  All right.  We will come back at 2 o'clock as requested.  Can I just leave you, panel, with one question?


I hadn't understood, until Mr. Shepherd went into this - as you can tell, I'm fascinated with these little charts on global warming here at C2, tab 4, schedule 1, pages 20 to 22.


I had thought that you were fitting this trend line to actual data, but, as I now understand it from your answers to his question, actual data goes from '86 to '07 and the rest is just backing the line up.


 Can you produce this based upon the trend line on actual data?  You must have the actual data from '65 to 2007?


MR. DENOMY:  Yes, I can produce the trend line.


MR. KAISER:  So we can see what the actual trend is for these?


MR. DENOMY:  Yes.


MR. KAISER:  Thank you.


MR. MILLAR:  That will be undertaking J4.3.


UNDERTAKING NO. J4.3:  PRODUCE THE TREND LINE ON 
ACTUAL DATA FROM 1965 TO 2007 FOR ALL THREE REGIONS.

MR. LADANYI:  So that will be a 40-year trend, Mr. Chairman?


MR. KAISER:  Yes.


MR. SHEPHERD:  Mr. Chairman, I just wonder whether that would be ‑‑ whether it is your intention that that be for figures 4, 5 and 6 so we can see the different regions?


MR. KAISER:  Yes, yes, all three.  While you are doing that, could you do a fourth where you put all three markets on the same graph?


MR. DENOMY:  Yes.


MR. KAISER:  If we have three different pages now, that's fine, but I would like to see the fourth page where you have them all so we can look at the different trends for these different areas.


MR. DENOMY:  Yes, I can do that.


MR. KAISER:  Come back at 2 o'clock.


‑‑‑ Luncheon recess taken at 12:01 p.m.

--- Upon resuming at 2:10 p.m. 


MR. KAISER:  Please be seated.  Mr. Shepherd.  


MR. MILLAR:  Mr. Chair, if you don't mind just a couple of quick preliminary matters. 


MR. KAISER:  sure. 


PROCEDURAL MATTERS:


MR. MILLAR:  As a reminder to the Chair and the Panel, as noticed by the parties, I understand this room is booked at 4 o'clock for a different meeting you are involved in, Mr. Chair, NRG.  


MR. KAISER:  That's correct. 


MR. MILLAR:  So we should wrap up a little bit before 4 o'clock to give us a chance to clear out.  


As a second matter, apparently I have some corrections to the record to make.  These were matters brought to the court reporting service's attention.  They have replayed the tape and have made some corrections so I have been asked to read these in to the record.  


TRANSCRIPT CORRECTIONS:


These are from the transcript of January 29th, which is volume 2, I think that was actually Monday.  Volume 2 is Monday.  They're as follows:  


Page 36, line 28, currently starts "with has involved," it should be "which has involved."


Page 39, line 17, the word "participate" should be "participant."  


On page 91, line 17, "separated outline" should read "separated-out line."  The space is in the wrong spot. 


Finally on page 96, line 15, it currently says, "You cannot bid the," it should be, "you cannot beat the."  So "bid" becomes "beat." 


Those are the corrections, Mr. Chair.  


MR. KAISER:  Thank you.  Is that it for the preliminaries?  


MR. MILLAR:  Yes.  


MR. KAISER:  Thank you.  Mr. Shepherd.  


CROSS-EXAMINATION BY MR. SHEPHERD (continued):

MR. SHEPHERD:  Thank you, Mr. Chairman.  
Witnesses, I wonder whether you could turn up Exhibit C2, tab 4, schedule 1, page 11, which is your comparison of the various methodologies.  


It is true, isn't it, if you did this comparison on 30 years' data instead of 16, you would get different answers?  


MR. DENOMY:  Yes.  


MR. SHEPHERD:  You wouldn't necessarily even get the same ranking; right?  


MR. DENOMY:  You may not get the same ranking. 


MR. SHEPHERD:  In fact you saw that, because on the next page you have the five-year numbers and the five-year numbers have quite different rankings than the 15 year numbers; right?  


MR. DENOMY:  In the case of five years, the Energy Probe method performs best followed closely behind by the 20-year trend.  


MR. SHEPHERD:  Okay.  That is interesting you say that, because, in fact, on accuracy, 20-year trend drops substantially for five years; right?  


MR. DENOMY:  Yes.  


MR. SHEPHERD:  Of course, the reason for that -- I'm not suggesting the five year numbers are better, because in fact the five-year numbers are not better, right, because they're too short a data set. 


MR. DENOMY:  Yes.  


MR. SHEPHERD:  And 30 years would be better still; right?


MR. DENOMY:  Yes, it would be. 


MR. SHEPHERD:  The reason why you didn't use 30 years is because you only have de Bever back to 1990?  


MR. DENOMY:  Yes.  


MR. SHEPHERD:  The other ones you can reconstruct for pretty far back, but de Bever is harder to reconstruct because it has such a long data set itself?  


MR. DENOMY:  Yes, that's right.  


MR. SHEPHERD:  Have you done calculations comparing the other ones for a longer period of time?  


MR. DENOMY:  No, I have not.  


MR. SHEPHERD:  Let me turn to these measures of accuracy.  You had some discussion with the Chairman about that earlier today.  


You have mean absolute percentage error, and root mean squared percentage error.  The two of them both measure accuracy, but root mean squared percentage error exacerbates the amount of the error so that it weighs the extremes more heavily than an APE does; right? 


MR. DENOMY:  That's correct. 


MR. SHEPHERD:  They both give more weight to the extreme, it is just when you square it, it is geometric instead of linear. 


MR. DENOMY:  That's right.  


MR. SHEPHERD:  Neither of them is concerned with the direction of the error, they're only concerned with the quantity of the error.  


MR. DENOMY:  Yes.  


MR. SHEPHERD:  So a model that consistently was 5 percent over forecast would perform better than a model that was half the time 10 percent over forecast, and half the time 10 percent under forecast?  


MR. DENOMY:  Yes, that's correct.  But that is why we look at symmetry, as well.  


MR. SHEPHERD:  So I am coming to that.  Then you have MPE, which is mean percentage error. 


MR. DENOMY:  Yes.  


MR. SHEPHERD:  And that is the same as MAPE, except it takes into account which side of the zero you're on; right? 


MR. DENOMY:  Yes.  


MR. SHEPHERD:  So it’s measuring symmetry to a certain extent but it is also measuring accuracy.  


MR. DENOMY:  Yes.  


MR. SHEPHERD:  It combines the two. 


MR. DENOMY:  Yes.  


MR. SHEPHERD:  Okay.  Whereas percent over forecast doesn't measure accuracy at all.  It only measures symmetry.  


MR. DENOMY:  Yes.  


MR. SHEPHERD:  Okay.  In fact if you just wanted to know which is the most symmetrical you wouldn't look at MPE, right, you would just look at percent over forecast. 


MR. DENOMY:  You would look at MPE to see whether or not it is symmetrical in the sense that you want that closer to zero, which means your positives and negatives are cancelling out over a longer period of time.  


If you are just concerned with a number of times that it over-forecasts versus the number of times it under-forecasts, then you would look at percent over forecast.  


MR. SHEPHERD:  Now, all of these are quite interesting and very educational to me because I never studied them in school, but the simpler approach, which the Chairman actually has started on earlier today, would be just to say, within a particular time period, what's the aggregate net error?  How close were you to the total degree days for the total time period?  


This is what essentially K4.4 does; right?  


MR. DENOMY:  Yes.  


MR. SHEPHERD:  So I provided to you a couple of days ago, and it is a little bit duplicative but I thought I would put it in anyway because it has some other data in it as well, a spreadsheet headed up "Degree day methodologies, comparison of performance 1990 to 2005."  


Do you have that?  


MR. DENOMY:  Yes, I do.  


MR. SHEPHERD:  I wonder if I could get an exhibit number for that.  


MR. MILLAR:  Exhibit K4.5, Mr. Chair, called degree day methodologies - comparison of performance 1990 - 2005. 


EXHIBIT NO. K4.5:  DOCUMENT ENTITLED "degree day 


methodologies - comparison of performance 1990-2005"

MR. MILLAR:  Do you have copies, Mr. Chair?  I don't think so.  


MR. KAISER:  No, I don't.  


MR. MILLAR:  Okay, we will bring them up.  


MR. SHEPHERD:  Now, what this does - correct me if I'm wrong.  It shouldn't be, I did it - is it totals up the total number of degree days both actual and using the various forecasts for each of the three regions.  Right?  


MR. DENOMY:  Yes.  


MR. SHEPHERD:  Then it calculates the variance between the forecasts, individual forecasting methodology and the actual over that 16-year period; right?


MR. DENOMY:  Yes.  


MR. SHEPHERD:  So it's the equivalent to K4.4, but for all of the methodologies?  


MR. DENOMY:  Yes.  


MR. SHEPHERD:  It also has at the bottom:  Averages.  And I take it you would agree with me that you can't just average the numbers for the regions because they should have different weights because you have different volumes in those regions. 


MR. DENOMY:  Yes that's correct.


MR. SHEPHERD:  And if you wanted to do that correctly then Toronto region would have a 80 percent weight, and eastern would have a 12 percent rate.  Or something like that?  


MR. DENOMY:  Yes.  


MR. SHEPHERD:  Okay.  That would change the numbers in the averages component; right?  


MR. DENOMY:  Yes.  


MR. SHEPHERD:  But I take it you would agree that as a measure of whether a particular methodology is successful in allowing you to recover the correct revenues each year, this sort of calculation is a good way of doing it.  Isn't that right?  


MR. LADANYI:  It would not be because it has to be volume weight, just like you said.  


MR. SHEPHERD:  I am not talking about the averages at the bottom.  Let's just look at Toronto, for example.  Let's assume we fixed the averages at the bottom for weight.  If you just take a look at Toronto -- which is what you use; right?  You use Toronto, and then you will buy for the whole system?


MR. LADANYI:  If you ignore the averages, the Toronto numbers would be correct, yes.


MR. SHEPHERD:  And that is a good way of comparing the methods to see whether they allow you to recover appropriately; right?


MR. LADANYI:  Yes.


MR. SHEPHERD:  Okay.  The two things that you can see from that, I mean, you can see, number 1, the only one that under-forecast over the period was 20‑year trend; right?


MR. LADANYI:  Yes.


MR. SHEPHERD:  But it is also true the 20‑year trend is the closest to being dead on for those 16 years; right?


MR. LADANYI:  Correct.


MR. SHEPHERD:  And, in fact, surprising as it may seem, the next best is the Naive method; right?


MR. LADANYI:  Yes.


MR. SHEPHERD:  It's true, isn't it, that because of the nature of the math in the Naive method, in which the only delta you have is the last two years, the longer the data set, the more accurate it is on this sort of measurement; right?


MR. LADANYI:  We don't believe it is.  I think this is only by chance it turned out this way.  We are troubled by that question.  We are not sure that that is right at all.


MR. SHEPHERD:  Okay.  Well, then let me go at that a different way.


The -- if you use the Naive method, than the actual and the forecast are identical for all but two years.  That's true; right?  They have to be, because you are only two years out in your forecast?


MR. DENOMY:  Yes, that's right.


MR. SHEPHERD:  So the only variance between actual and forecast in any period of data is the last two years; true?


MR. DENOMY:  Yes, that would be true.


MR. SHEPHERD:  And, therefore, the longer the period of data, the smaller the percentage delta is going to be on average, right, because it is still only going to be the last two years?  If you have 100 years, then it is that variability over a much bigger denominator; right?


MR. DENOMY:  I guess that depends on -- just one minute, please.


[Witness panel confers]


MR. DENOMY:  We would have to agree with that, because the ‑‑ even though you are just out by two years - in other words, it is just those two years you're excluding in terms of the Naive method - that percentage variance would depend on how far off the actual was versus two years previous.


So it may not shrink.  It could be actually larger than the 8.2.


MR. SHEPHERD:  Okay.  Well, then what I am going to ask you to do is this ‑‑


MR. DENOMY:  Excuse me.  I'm sorry, Mr. Shepherd, not 8.2.  0.8.


MR. SHEPHERD:  That is probably better.  What I am going to ask you to do is, the de Bever, de Bever with trend and Energy Probe methods are ones that you can't go past ‑‑ go back past 1990.  For all of the other ones you can, and you have the data set.  What I am going to do -- ask you to do is I'm going to ask you to provide this piece of information, this chart, K4.5, going back to 30 years.


MR. DENOMY:  Okay.


MR. SHEPHERD:  Can you do that?


MR. DENOMY:  Yes, I can do that.  It will take some time, but I can do that.


MR. MILLAR:  J4.4.  Mr. Shepherd, your precise one-liner?


MR. SHEPHERD:  A version of K4.5, excluding the de Bever, de Bever with trend and Energy Probe methods, that starts from the year 1975 -- 1976, I'm sorry.


UNDERTAKING NO. J4.4:  PROVIDE A VERSION OF K4.5, 


EXCLUDING THE DE BEVER, DE BEVER WITH TREND AND 


ENERGY PROBE METHODS, STARTING FROM THE YEAR 1976.

MR. SHEPHERD:  Just one other thing on this.  The other piece of information that is on this is the number of times each method over-forecasts or under-forecasts.  Do you see that?


MR. DENOMY:  Yes.


MR. SHEPHERD:  In fact, the 20‑year trend did not score as well on that as some of the others; right?


MR. DENOMY:  Yes.


MR. SHEPHERD:  So while its magnitude of error is smaller, its tendency to error is bigger; is that right?


MR. DENOMY:  Yes.  That would be correct, according to these numbers.


MR. SHEPHERD:  Okay.  The better your methodology is, the less weather risk you have; right?


MR. LADANYI:  If you define the weather risk as being under- or over-forecast, yes.


MR. SHEPHERD:  Okay.  Now, you don't have to do that by forecasting.  You could also do that -- and in fact this has been done in some places, hasn't it, that you could just say, Let the ratepayers take the weather risk?


MR. LADANYI:  Yes, I understand that is what they have in British Columbia.


MR. SHEPHERD:  So you could have a variance account in which whichever that variance is in revenues between forecast weather and actual weather, the weather-driven variance, simply went into a variance account, and, over some period of time, amortized over five years or ten years, is recovered from or given back to the ratepayers each year; right?


MR. LADANYI:  I am not really sure how the recovery happens in British Columbia.  I know they have it and they have had it for some time, but beyond that I can't tell you.


MR. SHEPHERD:  I wasn't asking about BC.  I was asking about conceptually.


MR. LADANYI:  Conceptually, yes, you can do it.  You can recover it over one year or many years.  All kinds of things are possible.


MR. SHEPHERD:  I assume that the company would find that an acceptable solution to weather risk?


MR. STEVENS:  Mr. Ladanyi can correct me if I'm wrong, but I'm not sure whether he is in a spot to speak on the company's policy position on a question such as that.


MR. SHEPHERD:  Let me approach it a different way, then.  I understand.


Have you been involved in discussions at the company about the possibility of having the ratepayers take over the weather risk?


MR. LADANYI:  We have had discussions over the last -- I would say ever since I started working at the company about the weather risk.  We discussed what is going on in British Columbia.  But I would say one thing that I learned when I started testifying is never form policy on the stand when you are testifying.  


Policy has to be determined in the office before you get to the stand.  So I can't answer a policy question here.


MR. SHEPHERD:  Okay.  Let me ask you a different question.


If you didn't have the weather risk anymore, if for some reason this Board decided ratepayers take the weather risk from now on, then having a reduced risk, at least conceptually, should mean that your return on equity should be lower, as well; right?


MR. LADANYI:  I am again outside of my area of expertise.  That would be for Mr. Boyle to answer.


MR. SHEPHERD:  Okay.  Let me ask you this and tell me if this is outside of your expertise, as well.  If we could determine empirically the value of the weather risk from an investment point of view -- let's say we could determine that empirically.  That's my hypothesis.  


In your view, would that then mean that reducing the ROE by that much and shifting the weather risk to the ratepayers would be a fair result?


MR. LADANYI:  Sorry, I can't help you here.


MR. SHEPHERD:  Okay.  So then the last area in which I have some questions ‑‑ no, second last area in which I have some questions is a follow-up on our discussion earlier about mitigation.


During a warm period, you try to manage your expenses, because you have lower revenues?


MR. LADANYI:  Right.


MR. SHEPHERD:  And you do that with discretionary expenses.  You don't stop putting pipe in the ground; right?


MR. LADANYI:  We do what we can. 

MR. SHEPHERD:  So we've heard in the past, in fact in this -- in the hearing room as it then was, that if you have a warm year, then things like expensive training programs and stuff like that get cut back.  


MR. LADANYI:  Things that are more discretionary like training programs would be cut back and things where we cannot cut back, for example like rents or costs that we pay to our suppliers, we've got to pay those or interest on the bonds.  We have to pay those.  So they are very much fixed costs and they have to pay it no matter what. 


MR. SHEPHERD:  I assume in a colder year, then, you ramp up expenses because you have extra revenues; is that right?


MR. LADANYI:  I wouldn't say we ramp up expenses, but I would say we can afford to spend more on training.


So therefore let's say something, for example, like training is going to be affected by how much money we have to spend on it.  If we are really short of funds one year because of particularly warm weather and, having paid all of our fixed costs, not much is left over, we will not be able to spend it on training.  


MR. SHEPHERD:  Is it fair to say that in a warmer year, your activities in mitigation are more extensive than your excess spending in colder years?  It's not symmetrical; right?  


MR. LADANYI:  It might not be symmetrical.  I wouldn't expect it to be symmetrical.  


MR. SHEPHERD:  Okay.  What I wonder is, could you provide us -- I am aware that this sort of is partly Mr. Boyle's area and partly your area, and maybe you could work it out with him who truly provides this.  


Our thesis is in colder years profit goes up.  In warmer years, profit goes down but it doesn't go down as much if the effect is asymmetrical.  What we would like you to do is take a period of time, 15 years, 20 years, however long enough that it makes sense, and track for the Board in a chart, with the data behind it, the variances each year in weather from forecast, degree days from forecast, and the variances each year in actual achieved ROE from Board-approved.  


So that we can track and see whether, in fact, there is an asymmetry in the effect.  Can you provide that data set for us?  


MR. LADANYI:  So you particularly want to match the actual -- not weather normalized ROE but actual ROE. 


MR. SHEPHERD:  That's correct.  


MR. LADANYI:  With the -- with the what, again?  What would be the other axis? 


MR. SHEPHERD:  The variance in degree days.  So you have one chart which is, over time, variance of ROE to Board-approved.  And the other chart would be variance of degree days to Board-approved.  


MR. STEVENS:  I guess just before Mr. Ladanyi answers this, we are having a little bit of trouble seeing the direct relationship here between the degree days issues and the forecast issues versus what you are asking.  


There could be a realm of issues or contributors to what happens in ROE in any given year.  I am concerned that whatever we produce would have so many explanatory notes to it that it would be virtually useless to anybody.  I understand the questions that have been asked about what happens with volumes versus Board-approved volumes when the weather changes.  But when we start to get into this question of ROE, it strikes me there are so many other things in the pot that it is really not going to be all that helpful.  On the other hand, it may be a lot of work to draw together all of these explanations that would have to be included to give a fair picture of what you're getting.  


MR. SHEPHERD:  Mr. Chairman, the point of what I am asking for is that we believe that the data will show an empirical relationship, an empirical amount which is the value of the weather risk.  That is because the impact on profit is asymmetrical which we think it is, then we think if this data set is produced, you will be aided to identify by math exactly what that value is.  


We intend -- we may, depending on what the results are, propose in our final argument, that this Board shift the weather risk to the ratepayers and use that empirical amount as the amount of the adjustment to ROE.  


MR. KAISER:  Why is it asymmetrical, if the forecasted is higher than actual, there will be a consequence because of the increased volumes and vice versa on the other side.  But why does it impact revenue?  Is that because certain costs are fixed?  


MR. SHEPHERD:  No.  Our thesis anyway -- and this hasn't yet been proven, but our thesis is that the company has sufficient discretionary expenditures that when the weather is warmer than normal, they don't eat the whole weather costs.  But when the weather is colder than normal they enjoy the entire profit benefit. 


MR. KAISER:  So if the weather is unusually warm, as the witness has said, for the first part of January, they can take some steps to cut costs?  


MR. SHEPHERD:  That's right. 


MR. KAISER:  Whereas they can't do it in reverse. 


MR. SHEPHERD:  We think in fact if we looked back in time we will see that there are years where the weather was warmer than normal where they actually made their ROE.  There might be lots of other factors, but if your data set is long enough you may be able to see a trend just as you do with weather methodologies.  


MR. KAISER:  Mr. Stevens is going to say there may be other factors that creep in there.  Those aren't the two variables in which profit will be affected by other things, other than weather.  


MR. STEVENS:  I guess, just to add to that from what my friend Mr. Shepherd has said, I am concerned -- I think we are getting into areas the company certainly never understood were in issue and have never actually been put, squarely been put at issue in this case at all in terms of transferring weather risk and putting accounts or allowances somehow.  Certainly my understanding of this issue is it's been around a degree day weather forecasting methodology, not around where the risk properly resides and how one might create some sort of alternate methodology to level the playing field in a totally different way.  


My understanding is that fundamentally changes what this case is about and certainly no evidence has been put in by the company about whether that is a good or bad thing or how best it would be accomplished, since we simply didn't know that that was something that was in play in this case.  


MR. KAISER:  I understand that.  But he may have an argument that there is a better way to solve this problem going forward that, in fact, may even be better for you.  


I am trying to go back to the data question.  I understand why Mr. Shepherd wants the data.  My question really over to you is, and I guess to the witnesses:  You understand Mr. Shepherd's question why he wants the data.  Is it produceable?  Or is it going to be meaningless?  


MR. LADANYI:  Well, the data numbers are produceable.  There is no question about it.  It's more an issue of interpretation and what is does the data finally mean?  Lastly really, Mr. Shepherd, in my point, is going way beyond the scope of this particular witness panel, and the evidence that we have currently before the Board.  


He is really going into an area that probably should be addressed by the equity thickness panel, if at all.  And it certainly was not any part of our requested relief from this Board in this rate case, as far as I am to understand, and we have no evidence on it.  So we will be making up new material and going into unchartered territory, so to speak.  


MR. KAISER:  Well, we know what years there is an over-forecast and we know what years there is an under-forecast.  And we know the profits in each of those years.  Those are pretty ascertainable figures; right?  


MR. LADANYI:  Yes they are, Mr. Chairman.  But the issue is -- 


MR. KAISER:  You could produce them and I suppose it would be open to interpretation what they mean.  Or is that not sufficient for your purposes?  


MR. SHEPHERD:  Mr. Chairman, in fact, that would be sufficient.  I am enough of a realist to understand that putting in argument a major change like this may not happen overnight.  I may say:  This is the best solution to the problem they presented to the Board.  Weather forecasting method isn't working properly.  Please solve it.  We may say this is the best way to solve it and you may say:  Well hang on a second, we don't have enough evidence on this.  But you then might say, and we may in fact say this in argument:  We're going into an IR period.  Let's get a proper study done of this relationship so that we can implement this, if necessary, for the IR period.  


That may affect what you decide about 2007 and the weather methodology. 


MR. KAISER:  Mr. Stevens, it seems to me the data can be produced pretty easily.  It is open to interpretation as to what it means and you can argue about it and Mr. Shepherd can argue about it.  


MR. STEVENS:  I hear what Mr. Ladanyi is saying and I don't disagree that the data can be put together.  My concern is simply what interpretation will be put to it and the fact that, as everyone can well imagine, weather will not, in any year, be the only thing impacting on ROE.  There is a host of other factors. 


MR. KAISER:  We understand that, but we can leave that to argument.  


MR. KAISER:  What was the time period?  


MR. SHEPHERD:  I've left it up to them, but certainly at least 20 years would be -- make sense to me. 


MR. KAISER:  The data that is on 4.5 which is your document, Mr. Shepherd, that's 20-year data, is it?  


MR. SHEPHERD:  It's 15-year data because this is all they provided.  I asked for 30. 


MR. KAISER:  I realize that.  If they give you 15 years on this matter, is that sufficient?  


MR. SHEPHERD:  I think so, but because you are trying to see whether a trend emerges from the data, the longer the better.  But whatever they can do. 


MR. KAISER:  I think we're spending too much time arguing about this, Mr. Stevens.  This data is readily available.  We will argue about what it means. 


MR. STEVENS:  Certainly the final thing I wanted to point out, and we will point this out in our response, is I think, as everyone will appreciate, the company has changed markedly over that period of time with unbundling and different things.  Again, there's so many explanatory things that are going to have to go into it that I just want to leave that word of warning, so that it won't come as a surprise.


MR. KAISER:  All right, that's fine.


MR. MILLAR:  Mr. Chair, if it is helpful, I think much of the information Mr. Shepherd is requesting is actually already on the record.  There is already a breakdown of the ROE from 1985 to 2005, and I believe all of the weather data is there, as well.  Now, granted it hasn't been put into a chart together, and there may be some explanatory notes and whatnot, but I think much of the data is already there.  


That being said, I do understand that we are getting an undertaking for this; is that where we stand?


MR. SHEPHERD:  Yes.


MR. KAISER:  Yes.


MR. MILLAR:  So that will be undertaking J4.5.  Mr. Shepherd, just to make sure everyone is on the same page,

can you ‑‑


MR. SHEPHERD:  Sure.  Did you say, Mr. Chairman, 15 years?


MR. KAISER:  Twenty years is fine.


MR. SHEPHERD:  A 20‑year data set that tracks variations from actual to Board‑approved each year for degree days and for ROE.


UNDERTAKING NO. J4.5:  PROVIDE 20‑YEAR DATA SET THAT 


TRACKS VARIATIONS FROM ACTUAL TO BOARD‑APPROVED 


EACH YEAR FOR DEGREE DAYS AND FOR ROE.

MR. SHEPHERD:  Then my last question - this is my last couple of questions - relate to something we talked about a little bit earlier and I never finished off on, and that was the problem of incentive regulation and the fact 

that -- the six‑year potential impact.


So if we go back to C2, tab 4, schedule 1, page 23, that column 3 has a series of 36 numbers, and that would ‑‑ correct me if I'm wrong.  If you wanted to do six‑year consecutive periods, you would have a data set of 30; right?  There's 30 consecutive periods of six years.


[Witness panel confers]


MR. DENOMY:  Excuse me, 30 consecutive periods of six years?


MR. SHEPHERD:  Yes.  So you have a period of 1970 to 1975 --


MR. DENOMY:  Okay.


MR. SHEPHERD:  -- 1971 to 1976; right?


MR. DENOMY:  Yes, yes, I've got you.  Sorry.


MR. SHEPHERD:  So if you wanted to do a forecast of degree days for the period 19 ‑‑ 2019 -- good grief, 2007 to 2012, you could do that; right?


MR. DENOMY:  Yes.


MR. SHEPHERD:  Okay.  You could do that using your trend methodology?


MR. DENOMY:  Yes, we could.


MR. SHEPHERD:  Have I asked you for that already, now that I am thinking about it?


MR. DENOMY:  No.  I don't believe you have.


MR. SHEPHERD:  Could you do that using your trend methodology; that is, take six-year periods and forecast the next six‑year period?  Can you do that?


MR. DENOMY:  Yes.


MR. SHEPHERD:  Okay, thank you.


MR. MILLAR:  J4.6.


UNDERTAKING NO. J4.6:  REQUEST TO PROVIDE A TREND 


FORECAST FOR THE PERIOD 2007 TO 2012 AS A SIX‑YEAR 


PERIOD USING THE PREVIOUS 30 SIX‑YEAR PERIODS AS THE 


DATA SET.

MR. MILLAR:  Mr. Shepherd, a summary, please?


MR. SHEPHERD:  That's a request for a trend forecast for the period 2007 to 2012 as a six‑year period using the previous 30 six‑year periods as your data set.


MR. DENOMY:  Okay.


MR. SHEPHERD:  Mr. Chairman, those are our questions.


MR. KAISER:  Thank you, Mr. Shepherd.  Mr. Buonaguro, do you have any questions?


CROSS‑EXAMINATION BY MR. BUONAGURO:

MR. BUONAGURO:  Thank you, Mr. Chairman.  I am just going to set myself up here so hopefully everyone can hear me today.


In terms of our cross‑examination, and in coordination with other intervenors, we have limited our examination to the normalized average use topic.  So we don't have any questions about weather risk in the larger sense.  


As it happens, a lot of the material that we prepared was covered by Board Staff yesterday, so I have a few specific questions to ask relating to the use of natural gas prices in determining the average use numbers in the material.


If I could ask the panel to look at Exhibit C2, tab 3, schedule 1, page 6, I am looking at the driver variable assumptions.  Under the line "Real Residential Natural Gas Price", I understand, from the conversation yesterday with Board Staff, that there is an undertaking to update the number in column 7, the 8.5 percent number.


MR. DENOMY:  Yes.


MR. BUONAGURO:  Now, as I understand the table, all of these numbers are input into your model; is that correct?


MR. DENOMY:  That's correct.


MR. BUONAGURO:  So I am looking at ‑‑ actually, columns 2, 3, 4 and 5 are all actuals?


MR. DENOMY:  Yes.


MR. BUONAGURO:  So starting at column 6 we have -- for real residential natural gas prices, we have forecast price or forecast percentage; is that correct?


MR. DENOMY:  Yes.  At the time the forecast was produced, that would have included some actuals and some forecast.


MR. BUONAGURO:  Including for the natural gas price?


MR. DENOMY:  Yes.


MR. BUONAGURO:  Now, I am looking at ‑‑ we have a summary of the QRAM prices for 2006, and maybe you could take these numbers subject to check, but they're from the QRAM.  I will give you the docket numbers.  So January 1st, 2006 QRAM docket EB-2005‑0524, the reference price for the utility was $484.195 per 103 m3.


The April 1st, 2006 QRAM, which is EB-2006‑0035, was  411.099 103 m3.  EB-2006‑0099, July 1st, 2006, QRAM was 381.692 103 m3.


The October 2006 was EB-2006‑0195 was 378.329 103 m3.  


Finally, this last QRAM, EB-2006‑0288, January 1st, 2007, was 349.047 103 m3.


Can you accept those, subject to check?  I think we got them right.


MR. DENOMY:  Yes.  I accept those, subject to check.


MR. BUONAGURO:  Those suggest to us that throughout 2006 there was a sharp decline in natural gas prices, and our calculation is just under 30 percent.  Could you reconcile that with your forecast?


MR. DENOMY:  Certainly.  First of all, the prices that are used in the average use models are burner tip prices, and ‑‑


MR. BUONAGURO:  Can you explain that to me?


MR. DENOMY:  Well, yes, it is going to include the monthly customer charge, the delivery charge and the commodity charge.  So on a 103 m3 basis, these numbers won't reconcile with the gas prices that are used in the average-use models.


Secondly, you have to take into context the time in which the forecast was produced, and I believe it was around April of 2006 that we completed this forecast, and at that point in time we didn't have the QRAM rates for the remainder of the year.


So I think we've undertaken to provide what the forecast rate would be in 2007 with an updated forecast. 

MR. BUONAGURO:  Right.  But could you also do that for that column, input?  


MR. DENOMY:  For 2006?  


MR. BUONAGURO:  Yes.  Because at least on the face of it, as I recall column 6, it predicted a 13.4 percent increase in gas prices and I understand what you're saying about burner tip, but the QRAM price is at least, on the face of it, suggests a decline over the course of the year.  


MR. DENOMY:  Yes, but again, we didn't have that information when we produced the forecasts. 


MR. BUONAGURO:  That's fair.  But to the extent we now have actuals, perhaps you could update that part of the column as well.  


MS. CHAN:  Mr. Buonaguro, I would disagree with your statement moments ago.  When you quoted all of these prices, those are quarterly of 2006 prices.  


Whereas the table showing, in column 6, those are year-over-year percentage change and probably as all of you are aware, overall 2006 have a significant increase in gas prices, in terms of historic gas prices relative to 2005.  


MR. BUONAGURO:  Sorry, you're saying the actual prices in 2006 -- 


MS. CHAN:  And if I use basically moments ago what you quoted, the number for $484 per 103 m3 for January 1, '06 QRAM, and that was the prices we used in the forecast.  And if you recall for 2005 actual QRAM prices, if I recall correctly, subject to check, there that was around $353  per 103 m3.  So that was a really significant increase in prices in '06, January 1 QRAM compared to relative to 2005.  


MR. BUONAGURO:  But then throughout 2006 there was a decrease.  


MS. CHAN:  I am talking about annual.  Take a simple example.  I mean technically you should be using volumetric weighted average.  What you quoted those prices, those are quarter QRAM.  If you just took a simple math, divide all of these prices by four, they're still higher than the 2005.  And we are looking at year-over-year increase.  So when you say decrease you are looking at quarter over quarter which is not really basically relevant in this table.  


MR. BUONAGURO:  Oh. 


MR. LADANYI:  Also the other thing you should note is your quarter 1, 484.195 is at a very high price.  That is actually a heating quarter.  Whereas the low prices are in a non-heating quarter in a summer quarter.  So the fact there is some low prices in the summer really doesn't have much of a difference.  People are not going to be running their furnaces in the summer.  They're running it during the heating system.  But price was relatively high in the first two quarters.  


MR. BUONAGURO:  Right.  Not to argue with you, but the October 2006 price was over $100 less than the January price going into heating season but I think we can get to the point, which is:  You now have 2006 actuals available to you.  Right?  


MS. CHAN:  Yes.  


MR. BUONAGURO:  And you can update the 13.5 percent number.


MR. LADANYI:  We can update -- but Ms. Chan is saying even though quarter 4, 378.329 is a lower price than we had in the first quarter, it is still, on the average, higher than what was the price in 2005.  


MR. BUONAGURO:  But the number -- let me put it this way, the number 13.4 is probably different.  The forecast of 13.4 is probably different than the actual.  


MR. DENOMY:  Yes.  


MR. LADANYI:  Yes.  


MR. BUONAGURO:  And you can update it. 


MR. DENOMY:  Yes.  


MR. BUONAGURO:  That's all I'm looking for.  


And I think, to the extent that you've already also given an undertaking -- you are updating 8.5 in column 7.  You are also, and I think the undertaking was for every 10 percent change in that number, how does that affect volumes, if you've -- you've undertaken to do that.  I am assuming you can do it, take a similar undertaking with respect to column 6?  So if you update the 13.4 in column 6, down to 7, for example, you can -- we can estimate how much that affects your volumetric forecast for 2007.  


MR. DENOMY:  Yes.  


[Witness panel confers]


MS. CHAN:  If you recall, on Tuesday we agreed there was an undertaking, and we will update the table, that was demonstrated in Exhibit I, tab 2, schedule 27, and we will basically provide that updated gas prices forecast and that can meet your request in terms of column 7, and we also had an undertaking to talk about elasticity, yes.  


MR. BUONAGURO:  I can't honestly say I understood the answer completely.  


I understood, from Tuesday, that you are going to update that number, the 8.5 percent.  


MS. CHAN:  We will provide you an update, yes.  


MR. BUONAGURO:  Separately, you are going to provide a ratio of changes to that number that allows you to produce a change in volume which presumably you can then translate into a change in the revenue requirement deficiency or sufficiency based on volume.  


I want the same for column 6, because as I understand it, column 6 is -- as column 6 varies, that also changes your volumetric decrease or increase for average use.  


MS. CHAN:  On that Tuesday undertaking, we are committed to provide the impact of a 1 percent change in the price that can give you some kind of elasticity estimate, as well as we will update the table of gas prices.  


Moments ago when you say deficiency, or requirement, that is kind of new to us.  Maybe can you rephrase what you really want?   Additional on top of what the undertaking was.  


MR. BUONAGURO:  Sure.  Well, we actually have an answer to an undertaking, it is VECC IR number 23, which states:  An increase or decrease in 2007 test year rate 1, average use of ten metres cubed, would generate an increase or decrease in 2007 general service volume forecasts of 16.7, 106 m3.  The corresponding estimated impact on the revenue requirement would be an increase or decrease of $1.38 million.  So in terms of increases or decreases in the ten metre cubed aspect of that formula, you have already given an undertaking with respect to updating the 8.5 percent to produce a change in volume which then translates into an increase or decrease on revenue requirement impact.  I want the same information for the update on 13.4.  


I am assuming that because we are now talking about not the forecast for 2007, but we are talking about the perception from 2006 as it impacts on your model, that the ratio might be different.  I might be wrong.  Is the ratio for the impact on the 2006 different than the 2007?  


[Witness panel confers]  


MR. BUONAGURO:  It is pointed out to me there might be a cumulative impact, which is not -- doesn't require a separate undertaking.  


[Witness panel confers]  


MS. CHAN:  Mr. Buonaguro, maybe we still want to understand your requirement.  The way how we interpret your requirement, basically you are interested in the gas price impact.  Am I correct?  


MR. BUONAGURO:  Yes.  


MS. CHAN:  So I mean we can update this table for the gas price impact.  And I think that can meet your requirement sufficiently.  Because I mean as you mentioned, we already have a VECC IR talk about the average use, how that average use increase or decrease will give you the revenue requirement.  


So from my understanding, I believe when we provide you the updated gas price impact, that should be sufficient.  


MR. BUONAGURO:  All right.  Sorry.  So have I added anything by asking for the 2006?  


MS. CHAN:  For example, for what part do you want to ask?  You can ask lots of things but I mean that is - how do I call it - outside the scope of here.  May I ask you, what else do you want to know?  


MR. BUONAGURO:  Well, it is simple.  I think it's already been identified that your forecast for 2007 may be off and you have provided -- you are going to provide an update.  


What I think I have added is that your assumptions about 2006 may also be off, based on a prima facie review of the QRAM.  I have asked you to update that.  


MS. CHAN:  I disagree with your statement.  


Here, right now in this proceeding, we have basically asking the Board to approve our 2007 test year budget, based upon our latest actual information at the time when we developed the budget.  

Right now we haven't even gone through the 2007 actual.  It is still too early to say whether those are off, or not.


MR. BUONAGURO:  But you are updating the forecast?


MS. CHAN:  We only are committed to update the price forecast based upon the latest arrival publication date.


MR. LADANYI:  The difficulty we have is that you are kind of cherry picking certain items.  You are leading to a complete change in what -- our filed evidence.  And I don't think there is any provision for us to refile the whole rate case at this point in time.


MR. STEVENS:  I have been trying to follow this and I recognize that the witness panel is trying to be as helpful as they can, and I think they have committed that they would provide, based on the more recent information that we know, provide the information in column 6 of table 2 at Exhibit C2, tab 3, schedule 1 in terms of the impact on real residential and natural gas price that we have actually seen now that we are through 2006.


Where we seem to be running into difficulties is in the question of, well, what do we do with that and how much needs to be rerun?  And I think what I am hearing the witness panel say is that for -- huge parts of the company's filing would have to be rerun to take into account changed input assumptions.


On top of that, there is a difficulty, because, in a sense, we're cherry picking some of these and not others.  For example, we would be putting the same degree day assumptions in and those degree day assumptions don't have last year, which was one of the warmest years on record, built into them. 


So where do we stop this update process and at what point in time do we make the final decision in this case?  In my submission, it should be all based on the filing that was made last year.  We're happy to be helpful to provide some of these isolated updates to give some information of how the world has changed, but to rerun the whole case, in my submission, is more than we ought to be having to do at this stage.


MR. KAISER:  Well, I thought Mr. Buonaguro was asking you to redo your volume forecast on the basis of a more recent price.  Is that right, Mr. Buonaguro, or are you asking for more than that?


MR. BUONAGURO:  Well, as I understood, they already agreed to the first part, which is the 8.5 percent update of column 7 for 2007 forecasts to Board Staff.  They also agreed to indicate how that changes their volumes.


MR. KAISER:  Yes.


MR. BUONAGURO:  Which translates down the line into an argument for a reduction, or, depending on how it goes, an increase in revenue requirement.


The part that we saw to be missing from the Board Staff analysis was the column 6 analysis, because that also informs how ‑‑ whether the average use goes up or down based on perception of gas prices.  They have said that it factors into their model.


And on the face of it, at least, the QRAM prices that we pulled up show a decrease within the year, at least, of 30 percent.  So that during 2006, it appears to us that prices were decreasing steadily, which would suggest to us that so far as a perception of gas price in 2006, or at least at the end of 2006 feeds into the forecast for 2007, people are seeing decreasing prices, not increasing prices, which the model number suggests.  


So we wanted to update 2006, as well, because where they are predicting a 13.4 percent increase, it seems to us -- and the update that they are going to provide might support their number, but it seems to us it is an actual decrease in prices over 2006, which would materially change the forecasts.


MR. KAISER:  You think the 13.4 will follow below the 8.5 in the proceeding here?


MR. BUONAGURO:  It may.


MR. STEVENS:  If I may, Mr. Chair, perhaps there is a misunderstanding as between me and my friend about what it is the company's already undertaken to provide.


My understanding is we have undertaken to provide an update of the gas prices in 2007 based on more recent forecasts.  We have also undertaken to provide information about how a 10 percent change, say, in gas prices would impact volumes.


I don't think that it has ever been asked or undertaken that we would go through and run these models again with new prices and new inputs and give precise numbers.  It was more order of magnitude type answers, in response to the questions first from Mr. Millar, and then from Member Vlahos, about the impact of a 1 percent or a 10 percent change.


I think, if I understand correctly, the level of complication increases hugely if we are running the actual forecasts versus just providing more rule-of-thumb guidance.


MR. KAISER:  I may be missing something.  If you can update the 8.5, which is the forecast for 2007, why can't you update the 13.4, which is the forecast for 2006?


MR. STEVENS:  Oh, we certainly can update, and we said we would update that.  It is updating the volumes that then flow from that that is causing difficulties, I think.


MR. KAISER:  Sorry.  You're not asking just that the 13.5, which shows an increase and you say it should show a decrease -- you are not asking that that simply be updated.  You want something more than that?


MR. BUONAGURO:  I only want what they promised Board Staff with the 8.5.


MR. KAISER:  That's what I thought.


MR. BUONAGURO:  Yes, which is ‑‑ maybe I can pull up the undertaking they gave to Board Staff on this.  Maybe Board Staff can provide the undertaking to me.


MR. KAISER:  What undertaking was that, Mr. Millar, that you got with respect to the 8.5 in 2007?


MR. MILLAR:  I am pulling it up now, Mr. Chair.


I am reading from the list of undertakings.  I think it is J3.6.  It is hard to tell exactly.  It says:  Update table 1 at Exhibit ‑‑ no, maybe that's not it.


MR. STEVENS:  I believe, sir, it is undertaking 3.7, to advise of the impact of a 10 percent change in the price of general service volumes; in other words, to see what the impact on volumes would be if the commodity price went up by 10 percent.


MR. MILLAR:  That's one of them.  I think there was another one, as well, that related to updating the table with ‑‑


MR. BUONAGURO:  That is the one I'm trying to ‑‑ as I understood, that related to the ‑‑ a possible change in the 8.5 percent number.


MR. KAISER:  That is 3.8.  Is that not right, 3.8?  That was the undertaking you are talking about.


MR. BUONAGURO:  Yes.  The one about 10 percent change in price.


MR. KAISER:  No, that's 3.7.  3.8 is to provide a price per m3 that corresponds to the 8.5 percent under 2007.  Is that the one we are talking about?


MR. STEVENS:  I think that's right, sir, that one and the one before it.


MR. BUONAGURO:  They already agreed to give me that one, for the 13.4, so I think I have that undertaking.


If you go to 3.9 and go down the page -- sorry, no.  The one about 10 percent change in gas prices, 3.7


MR. KAISER:  3.7?


MR. BUONAGURO:  Yes.  It is still written as a 1 percent change, but I guess it was changed to a 10 percent change in the price of general -- hmm, that's odd.


MR. KAISER:  So what is your question, Mr. Buonaguro?  What is your version of 3.7?


MR. BUONAGURO:  Well, let me put it this way.  The forecast for 2006 is going to be updated and the forecast for 2007 is going to be updated.


MR. KAISER:  Hmm‑hmm.


MR. BUONAGURO:  2006 based on actuals and 2007 based on the best available price.


MR. DENOMY:  Yes.


MR. BUONAGURO:  I want to be able to look at the cumulative effect of those two changes in terms of their outlook on how gas prices will affect volumes, average use in the general service class.


MR. KAISER:  In 2007?


MR. BUONAGURO:  In 2007.  I can give you the ‑‑ in terms of why, I can point out, at C1, tab 3, schedule 1, page 6 of 8, at paragraph 12, the company states:  

"Together with increasing gas prices in 2006, which were higher than the increase that occurred in 2001, forecasts of higher real natural gas prices in 2007 will continue to drive a decrease in the average use in 2007 at a similar trend as experienced in the 2001 to 2005 actuals."

     So the evidence suggests, and I think the model implicitly or even explicitly shows, that they take what happened in 2006 and it feeds into 2007.  So to the extent that 2007 numbers are wrong or 2006 numbers are wrong, and to the extent that the 2007 changes has cumulative effect on what the average use number should be.  


I think -- so for example looking at C1, tab 3, schedule 1, page 8, two pages further down, we're really looking at I think table number 3, gas prices, negative 48.6.  That number would be formed by changes to both of those columns based on the evidence.  


MR. KAISER:  So is it sufficient for your purposes if they give you an updated number for the 48.6 based upon updates to the 2007 and 2006 pricing factor?  


MR. BUONAGURO:  That would work too.  


MR. STEVENS:  I guess I'm in the hands of the panel here.  I don't know whether that means still having to rerun the whole volumes budget or not.  That is the outcome I am trying to avoid here.  But I don't know if there is a simpler way to do it.  


MS. CHAN:  Mr. Chair and Mr. Buonaguro, if you agree what we can do to accommodate your request is we can update the gas prices and try to provide you a shortcut impact to provide you an updated gas prices impact, had we known 2006 actual gas prices as well as the latest available 2007 forecasts.  


MR. KAISER:  Let's leave it on this basis.  On the one hand, we don't want you to refile your case.  


MS. CHAN:  And we cannot, yes.  


MR. KAISER:  On the other hand, it is not uncommon in these cases that where actual data becomes available at the time of the hearing that wasn't available when you filed, you update it and see if there are any material changes.  So I think it is clear what Mr. Buonaguro wants.  


See if, without killing everyone at Enbridge, you can produce it.  If there is some real problem, come back and tell us about it. 


MS. CHAN:  I appreciate that.  Yes.  We can provide an estimated gas price impact. 


MR. STEVENS:  Thank you.  Just to clarify that would be with respect -- in relation to this 48.6 number?  


MR. KAISER:  That's how I understood it.  I think Mr. Buonaguro agreed to that.  


MR. STEVENS:  On table 3. 


MR. BUONAGURO:  Yes.  In terms of materiality I would point out on table 3, that makes up approximately 60 percent of the total -- 


MR. KAISER:  Exactly, understood.  


MR. MILLAR:  Undertaking J4.7.  Just to ensure there is no confusion, does anyone dare to try and summarize it?  


MR. BUONAGURO:  I guess that is for me.  They're going to, using updates to column 7, column 6 with respect to real residential natural gas prices for 2007 and 2006, on table 2, updates, try and update a proxy number for table 3, gas prices, which currently is at 48.6 or negative 48.6, actually which appears at Exhibit C1, tab 3, schedule 1, page 8 of 18.  


UNDERTAKING NO. J4.7:  update column 6 using updates 


to column 7, with respect to real residential natural 


gas prices for 2007 and 2006, on table 2, updates, try 


and update a proxy number for table 3, gas prices, 


which currently is at 48.6 or negative 48.6, which 


appears at Exhibit C1, tab 3, schedule 1, page 8 of 18


MR. BUONAGURO:  I hope that wasn't too painful.  


MR. STEVENS:  I think we've got it.  


MR. BUONAGURO:  Actually, those are my questions.  That's what was left.  Thank you.  


MR. KAISER:  Thank you, sir.  Mr. Aiken, do you have anything?  


MR. AIKEN:  Yes, I do.  


CROSS EXAMINATION BY MR. AIKEN:

MR. AIKEN:  Panel, my name is Randy Aiken, and I am here on behalf of Energy Probe today.  I have a book of documents I will be referring to.   


MR. MILLAR:  Mr. Chair, that will be Exhibit K4.6, the Energy Probe compendium of documents. 


EXHIBIT NO. K4.6:  Energy Probe compendium of 


documents.  


MR. KAISER:  Can you distribute that. 


MR. AIKEN:  I am going to be following this document fairly closely, page by page.  I will often be referring to it by the page number that is in bold at the centre.  For example, I will be starting at pages 2 and 3 of 65.  


So starting on those pages, we have the equations that are for the apartment categories in the central, eastern and Niagara regions.  


Can you tell me first of all how are the forecasts from the long-run equation and the short-run equation combined to produce the overall forecast?  


MR. DENOMY:  Yes.  It is an iterative process.  The long-run equation models the long-run equilibrium relationship between average use and the variables that are included in the equation.  The short-run equation models deviations from the long-run trend in the long-run equation.  The two are linked by the error correction term and in the case of the eastern revenue class 12, apartment model, that error correction term is denoted "ECM_ERC 12 minus 1."  Sorry, Mr. Aiken.  


MR. AIKEN:  That's fine.  Can you tell me why there is no short-run equation shown for the central region?  


MR. DENOMY:  Yes.  When the models were first developed and error correction model was tried for the central revenue class 12 customer type and it was found that this particular specification produced better forecasting accuracy than an error correction model.  So we went with the single equation model as opposed to the error correction model.  


MR. AIKEN:  If I look at the long-run equations across the three, weather regions, what I notice is that there is a three, weather regions, what I notice is that there is a degree day term in all three specific to that region.  There is a time variable.  My understanding is time is a proxy for conservation?  


MR. DENOMY:  Yes.  


MR. AIKEN:  Okay.  Then in the central region there is an employment variable. That's the CRCE. 


MR. DENOMY:  Yes.  


MR. AIKEN:  But there is no employment variable in the other two equations.  And there is a price term, a real price term in both the central and eastern region but not in the Niagara region.  Can you explain why the employment and price variables are not in all three equations?  


MR. DENOMY:  Well, it would depend on:  One, the statistical significance of that variable, if it is included or not included; two, the forecasting accuracy of the model, if that variable is included or not included; and three, the sign of the co-efficient when it is included or excluded from each one of those particular models.  


So for example, the employment variable -- I am trying to recall now -- I believe it was included in the Niagara revenue class 12 model, but the co-efficient was negative.  That's not the -- 


MR. AIKEN:  Was it statistically significant?  


MR. DENOMY:  No.  


MR. AIKEN:  Okay.  Generally, then, is it your view that different equations with different variables across different regions is appropriate because of the reasons you have stated?  


MR. DENOMY:  Yes.  


MR. AIKEN:  Moving on to pages 4, 5 and 6.  We have the same analysis here for your commercial class 48.  Again, we have the different -- we have the degree days and time are across all three, but you have different economic drivers.  


MR. DENOMY:  Yes.  


MR. AIKEN:  GDP, goods and manufacturing and retail sales across three different regions. 


MR. DENOMY:  Yes. 


MR. AIKEN:  And in this case price only in the Niagara region. 


MR. DENOMY:  That's correct. 


MR. AIKEN:  I assume -- first of all, can you tell me what is in this commercial category.  


MR. DENOMY:  Commercial customers, they're small commercial customers, Rate 6 customers.  So you could have commercial heating with or without general uses, with or without water heating.  So you could have customers like small restaurants, perhaps small libraries, that sort of thing.  


MR. AIKEN:  Are these generally commercial establishments or industrial establishments?


MR. DENOMY:  These are commercial.


MR. AIKEN:  I am a little confused, for example, in the eastern region, why the economic drivers, goods, which back on page 1 of my document is defined as Ontario goods-producing industry -- I wouldn't think, for example, that restaurants and that kind of thing would fit in the goods-producing sector of the economy.  They would be the service sector.


MR. DENOMY:  Yes, they would be the service sector, but there are also a couple of other sectors included in there.  For example, agriculture, I do know that the Ottawa region does have a fairly large agricultural base and a variety of other different industries that are included in the goods classification.


Picking out a specific time series to use, you might not get a perfect match with the customer base there, but based on the forecasting accuracy of including the goods -- the goods series in this particular equation, it was a good fit.  It produced accurate results, so that is what we went with.


MR. AIKEN:  When you say it was a good fit and produced accurate results, it was better ‑‑ I am speaking now of the eastern region.  It was better than replacing the goods with retail sales, for example, like you use it in the Niagara region?


MR. DENOMY:  Yes, that's correct.


MR. LADANYI:  One thing, if I can add there, revenue class 48, for example, would include an office building for a manufacturer.  So they would be affected by goods producing, even though the building itself doesn't produce any goods.


MR. AIKEN:  And on pages 7, 8 and 9 of my document, these are the industrial equations.  We have the same thing.  The different drivers, the economic drivers, are gross domestic product for the central region, employment levels for the eastern, and manufacturing output for the Niagara region.  It's the same analysis as the previous ‑‑


MR. DENOMY:  Yes, that's correct.


MR. AIKEN:  On page 10 of 65 of my document, table 4, can you explain the footnote at the bottom?  I am a little confused as to which months have actual degree days and which months are Board‑approved, and how you have taken a Board‑approved annual number and come up with Board-approved numbers for different months.


MR. DENOMY:  You have to remember that these are on a fiscal year basis.  So when the forecast was produced, we had actual degree days from October 2005 to March 2006, and we had Board‑approved heating degree days from April 2006 to September 2006.  So the sum of degree days over all of those months, from October 2005 to September 2006, would be the degree days for fiscal 2006.


MR. AIKEN:  Yes, but how did you determine what the Board-approved heating degree days from April 2006 to September 2006 was?


MR. DENOMY:  They were approved in our last rate case.


MR. AIKEN:  So the Board-approved monthly degree days?


MR. DENOMY:  We take the annual degree days and break them out by month for budgeting purposes.


MR. AIKEN:  And you have a methodology for doing that?


MR. DENOMY:  Yes.


MR. AIKEN:  Okay.


Now, we have talked about these driver variables on table 4 a little bit in terms of the residential table.  This is for the commercial, apartment and industrial drivers.


Would there be any significant change to the forecast for the economic drivers?  By those, I mean the employment -- you've got a central zone employment, an eastern zone employment, Ontario retail sales, gross domestic product, goods-producing or manufacturing industry.


MR. DENOMY:  Yes.  I believe we filed an update to these forecasts in response to an interrogatory.  Just give me a second to get it.  It escapes me right now.


I believe it was VECC Interrogatory No. 15 at Exhibit I, tab 24, schedule 15.


MR. AIKEN:  Is the update significantly different for any of these -- for the growth rate for any of these variables?


MR. DENOMY:  I believe we are forecasting slightly lower GDP growth for Ontario than we had in the original filing.  In terms of retail sales, they are forecast to be slightly higher.


I wouldn't say any of the changes are material, but there are some slight changes.  I think if you were to look at specifically the Ontario GDP forecast, they would ‑‑ I haven't taken a look at ‑‑ well, I have taken a look at some of the forecasts that are out there now, and they're showing even worse growth in 2007 than what is in our update for the VECC interrogatory and what is in our evidence as filed.


MR. AIKEN:  I am going to venture into this real gas prices issue.  In this table, we have a real commercial natural gas price.  Can you explain to me why the numbers for ‑‑ that you have in here for 2006, 2007 and 2008 are different than the residential prices?


MR. DENOMY:  Yes.  Again, it is based off of our last known actual QRAM price.  So for a typical Rate 1 customer, you are going to have a different QRAM rate than you would for a Rate 6 customer, because they're charged different rates.


So then you are applying the forecast at the time to carry that out for the next two years, and then dividing by inflation.  So you are going to get slightly different growth rates between the two types of gas prices.


MR. AIKEN:  So the growth rates for real commercial are 9.6 and 9.4.  They're almost a full percentage point higher than for the residential?


MR. DENOMY:  Yes.


MR. AIKEN:  And that's because -- probably because the commercial customers would be weighted -- roughly 70 percent, or whatever the number is, would be related to the gas commodity, and the gas commodity is going up 11 percent in your forecast.  So because the gas commodity is a greater proportion for commercial customers than it is for residential, they have a higher increase?  Is that part of what is driving it?


MR. DENOMY:  Just give me one moment, please.


[Witness panel confers]


MR. DENOMY:  I think this is more of a rate design question, and I am not too sure why the Rate 6 customer would have a different commodity charge than the Rate 1 customer.


MR. STEVENS:  I am just wondering, Mr. Aiken and Mr. Chair, whether it might be more helpful for us to undertake to go away and find out the answer to this, rather than guessing at it while we are here.


MR. KAISER:  Would that do the trick, Mr. Aiken?


MR. AIKEN:  That would be fine.


MR. MILLAR:  J4.8.  Mr. Aiken, can you please state what you are looking for.


MR. AIKEN:  To provide an explanation of the difference in the real commercial natural gas price increase in 2007 and 2008 as compared to the real residential price increase.


UNDERTAKING NO. J4.8:  PROVIDE EXPLANATION FOR THE 


DIFFERENCE IN THE REAL COMMERCIAL NATURAL GAS PRICE 
INCREASE IN 2007 AND 2008 AS COMPARED TO THE REAL 
RESIDENTIAL PRICE INCREASE.

MR. STEVENS:  And that is referring to table 4 on page 10 of your materials?


MR. AIKEN:  Yes.


One further clarification question.  Back on page 1 of my materials where it identifies what these variables are, there are three different real commercial prices, one for each region.


How do those three ‑‑ first of all, are those three different, and, if they are, how do they relate to the one real commercial natural gas price in table 4 on page 10?


MR. DENOMY:  The real gas prices presented in table 4 on page 10 are for the central weather zone. 

MR. AIKEN:  Okay.  I am moving on now to the residential equations, which start on page 12 and goes through page 17 of my materials.  


I am glad Mr. Shepherd, I think it was, talked about the Metro western, northern and something else.  But can you explain why there are, in fact, four residential use equations for the central weather zone.  


MR. DENOMY:  Because the central weather zone is, in turn, divided up into the Metro region, the western region, the central region, and the northern region.  


MR. AIKEN:  But I guess, wouldn't it have been simpler just to have one residential average use equation for those four regions together?  Are the drivers significantly different across those four regions?  


[Witness panel confers]  


MR. LADANYI:  These have different housing stock.  The old Metro Toronto is substantially different than, for example, in the western region which is Mississauga and Brampton.   


Or the northern region you are dealing with essentially York region, Markham, Unionville and so on, so that is why they're segmented like this.  


MR. AIKEN:  Okay.  Then that leads me to my follow-up Question.  Why did you not segment the central weather area for the apartment, commercial and industrial customers?  


MR. DENOMY:  Because we had limited data for those, those other revenue classes.  So we decided to model strictly central for revenue classes 1248 and 73, but we had appropriate data for the four regions within the central weather zone for revenue class 20.  So we modelled each of those four specific regions.  


MR. AIKEN:  When you say a limited data, do you mean limited number of customers across each of the four areas?  


MS. CHAN:  Yes.  If you can point to Exhibit C3, tab 2, schedule 1, just to give you some perspective for customer accounts.  For residential customer, which is Rate 1, we have close to 1.7 million customers, whereas for Rate 6, which is comprised of apartment commercial/industrial, they only have 150,000 customers.  So you can see the huge difference.
 That is why for revenue classes 1248 and 73 you won't have enough customer account to have that detailed segmented region.



MR. AIKEN:  Now, when I look at the t statistic on a number of these equations, and I am referring specifically to page 13, the 1.245 t stat for the log of the employment level in the central -- central weather western region area.  On the following page, the central region, central weather, 1.233 on the log of time, and the 1.177 on the different log of the vintage variable.  


Can you provide the probability factors that go along with those three coefficients?  


MR. DENOMY:  Yes, I can.  


MR. AIKEN:  Could you do that as an undertaking?  


MR. DENOMY:  I would have to do it as an undertaking, yes.  


MR. MILLAR:  J4.9.  Mr. Aiken, if you would help us with a summary.  


MR. AIKEN:  To provide the probability figures associated with the three variables that have t statistics of one-point-something on pages 13 and 14 of Exhibit K4.6.  


UNDERTAKING NO. J4.9:  To provide the probability 


figures associated with the three variables that have 

t statistics on pages 13 and 14 of Exhibit K4.6


MR. AIKEN:  I am just reviewing my notes here.  I have a number of questions about elasticity, but I am happy that I can avoid them.  Mr. Millar covered those already.  


On page 17 of 65, looking at the Niagara weather zone, the long-run residential – actually, I am looking at all six residential equations.  They all contain degree days, price, and vintage variables.  But two of them don't contain time, which my understanding was the conservation proxy.  Was it surprising to you that in some areas, the conservation trend was not apparent?  


MR. DENOMY:  It wasn't surprising.  As I said before, the modelling procedure was to include or exclude variables based on the models’ predictability, in other words its forecasting accuracy.  


So to the extent that the time trend didn't improve the models' forecasting accuracy, we left it out.  


MR. AIKEN:  You weren't going to force the time trend into those equations?  


MR. DENOMY:  No.  


MR. AIKEN:  Okay.  On page 18 of 65, this is the table 2 for the residential drivers which we have looked at, I think, with other parties.  The only what I would call economic driver in here, other than price, is employment for one weather zone.  Is that correct?  


MR. DENOMY:  Yes.  


MR. AIKEN:  Now, the vintage variables, they appear, looking at the history here, that they change rather -- their change is stable.  


MR. DENOMY:  Yes, it is very stable. 


MR. AIKEN:  You wouldn't expect it to change significantly one year to the next, different from what you forecast?  


MR. DENOMY:  No.  


MR. AIKEN:  In paragraph 13, the last sentence, the driver variable assumptions are based on economic assumptions from the Economic Outlook, Winter 2006, then it gives an exhibit reference.  Should that actually be Exhibit C2, tab 1, schedule 1 which is, starts at my page 19?  


MR. DENOMY:  Yes, that's correct.  


MR. AIKEN:  Okay.  I wasn't sure whether I was tying these things into the correct place.  If you go to page 23, which is where the Ontario fiscal year forecasts start.  


When I look at the numbers on this page and the following page, the Ontario and the regional numbers that are on page 24 of 65, I can match the GDP, goods, manufacturing, retail services and employment levels.  Then when I come to the commercial and residential real prices, how do I match these with the response, I guess it was, in one of the CCC IRs that show the 11 percent increase, and taking into account the consumer price increase of 2.2 percent and 2 percent on this page?  How do I match those up?  


In other words, the 11 percent nominal increase, I have 2 percent inflation that should give me something in the neighbourhood of 9 percent real increase.  


Is the difference between that and the 8.5 because the gas commodity is only a portion of that price?  


MR. DENOMY:  First of all, the inflation rates that are used to calculate the real gas prices are the consumer price or inflation rate for GTA would give you your real central weather zone residential gas price or commercial gas price.  


The consumer prices for eastern would give you your real eastern price, and because we didn't have an inflation series for Niagara, we used the Ontario inflation rate for the Niagara weather zone real gas price.  


MR. AIKEN:  So that is part of the difference between the real prices across regions is different inflation rates applied to the same nominal increase?


MR. DENOMY:  That's right.


MR. AIKEN:  Is -- the relative weight for the gas commodity in the prices you use in your model, do they account for about 70 percent of the total price, the other 30 percent being your distribution charges?


MR. DENOMY:  Thereabouts, yes.  I can't give you an exact number off the top of my head.


MR. AIKEN:  I think I heard somebody mention the other day about 70 percent.


MR. DENOMY:  Yes.


MR. AIKEN:  It might have been the cost allocation people.


Mr. Buonaguro took you through his request on increases in 2006, so I don't have to do that.


Page 25, the gas volume budget at table 1, in the calendar 2006 bridge year estimate.  How many months of actuals did you have in there?


MS. CHAN:  Zero.  


MR. AIKEN:  So that was all 12 months forecast?


MS. CHAN:  Yes.


MR. AIKEN:  Is the calendar 2005 actual and -- sorry, yes.  2005 actual, is that actual or normalized actual?


MS. CHAN:  Actual and normalized actual.


MR. AIKEN:  Actual.  Would it be possible to provide, at this level of detail ‑ in other words, general service and contract only ‑ the normalized actuals for 2005 and 2006?


MS. CHAN:  And, in fact, we do have that.  If you turn to Exhibit C4, tab 2, schedule 3, and that will provide you a normalized comparison between 2006 bridge year estimate and 2005 actual.


MR. AIKEN:  But that's ‑‑ the 2006, that is still a bridge-year estimate and that's still 12 months forecast?


MS. CHAN:  Yes, yes.


MR. AIKEN:  Don't you have at least eleven and one actual for 2006?


MS. CHAN:  When we developed this budget, that was -- at that time is around during the March 2006 and we have the full year of 2005 actual, and that is really our assumption.  When we basically developed 2006 estimate, that was based upon full year of 2005 actual, such that these estimates doesn't have any actual.


Moments ago, you were asking whether we can have a normalized comparison between 2006 actual ‑‑ sorry, between 2006 bridge-year estimate and 2005 actual.  So I am pointing you to this exhibit, such that you can have comparison.


MR. AIKEN:  Yes, but I don't have the actual normalized 2006.  I have your normalized estimate for 2006 that was in fact 12 months of forecast.


MS. CHAN:  Are you asking us to provide you 2006 actual number?


MR. AIKEN:  Normalized actual, either 12 months actual or 11 months actual, ten months actual, whatever you have.


MR. STEVENS:  I'm a little concerned about whether these are figures and numbers that we can provide on a full-year basis.


I think that from my understanding ‑‑ and the witness panel will tell me if I am wrong, but my understanding is that this could be construed as financial information that hasn't been provided to the world at large and the company is not at liberty to provide through this forum at this point.  But I will let the witness panel tell me if I am wrong on that.


MR. LADANYI:  I think also it comes to the issue of updating the rate case.  You know, if we are going to have selective updating of different exhibits, number one, it is a lot of work.


Secondly, it really changes the evidence before the Board.  That's one of the difficulties in having a filing at this time of the year, but I think the appropriate thing is to go ahead with the filing as it is, rather than selectively update different exhibits and different schedules where it might serve the intervenors' case, but it is also -- I must also caution it is a lot of work.  


Eventually, you end up refiling the whole rate case.


MR. KAISER:  I don't think we are asking to refile the whole rate case.  These are fairly significant figures, and the general service volumes and the contract volumes are important figures.


If you have actuals and if the actuals are available as opposed to estimates for 2006, then we would like to have them.  I am sure you have them or you must have them by now, at least for the first 11 months.  Do you have them?  Let's establish if you have them.


[Witness panel confers]


MS. CHAN:  We can take this as an undertaking and see how we can provide -- try to provide maybe 11 and one, as you suggested, yes.


MR. KAISER:  All right.  Thank you very much.


MR. MILLAR:  J4.10.  Can you give a summary, please?


MR. AIKEN:  To provide normalized 2006 numbers, volumes, similar to table 1 on page 25 of 65 for as many months of actuals as is available for 2006.


UNDERTAKING NO. J4.10:  PROVIDE NORMALIZED 2006 NUMBERS, VOLUMES, SIMILAR TO TABLE 1 ON PAGE 25 OF 65 FOR AS MANY MONTHS OF ACTUALS AS AVAILABLE FOR 2006.

MR. AIKEN:  Mr. Chair, I know you have another proceeding in ten minutes or so.


I am not going to be able to finish today, so this might be an appropriate time to stop for the afternoon.


MR. KAISER:  Thank you, Mr. Aiken.  We will do that, and we will be back at 9:30 tomorrow morning.  

‑‑‑ Whereupon the hearing adjourned at 3:48 p.m.
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